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2. Dante has 4 pairs of socks. How BNQ.\ socks are there?

P TURN AND TALK®
. How is this probigm similar 1o the
one before? How is it different?

ne Draw a picture.

" Show 4 groups.

Show 2 socks in each group,

H T
H H
s i
H 2

24+2+2+2=

d VWrite a multiplication sentence.

1M UOLS

3. Select THREE number sentences that describe the picture.

P HINT, HINT

Think of the number of groups and ﬁ g g & B &
. how many are in each group. ’w“ o3 - ’w“ &4 ﬁu ]
- Y v Y v 7
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UNDERSTAND MULTIPLICATION

—— —— —— ——l——i——,{,——.——

. How Am | Doing?

What questions do you have?

Write a nurmber sentence to show multiplication.

Horses have 4 legs; people have 2 eyes. What are some other

things that have equal groups?

Lesson'l

PG SKETCHIT

In the space below,
drawing o show mul

Color in the traffic signal
that shows how you are
doing with the skift.

@ 2 groups of 3°

® 2+2+2.

© 3x3

{ 3groupsof2

® 3x2

) @ I+3+3

8 PR o I #i
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Tesson " UNDERSTAND MULTIPLICATION

INDEPENDENT PRACTICE

Answer the questions.

WORK SPACE

1. Which is another way to show 5 + 5 + 57
& 1x5
B s5x2
© 3x5

N
B 5%5

2. Write a multiplication sentence that matches the picture.

CovcoIooooCY

2X8=12

N
<

24
30

OO ®

ect TWO number sentences that show 4 groups of 3.
4+3 @& 3+3+3+3
4% 4 © 4+4+4 -
3+3+3+4 ® 4x3

e

B
g

¢ g

DO

st

4

1 masteryeducation.com | Mathematics | Level C Copyirg is prol

5. Solve.
7x2=1

14

16

18
20

Gl

Part A

' Drawa picture that shows 5 groups of 3.

Sampie answer:

EFraFrrEeFraEe &)

Part B

Write an addition sentence and a multiplication sentence
to match your picture. Explain your answer.

Sample answer:

3+3+3+3+3=18

5x3=15

My picture shows 5 groups of 3 stars and 15 stars in
all. This is the same as adding 3 five Himes. tis also
the same as multiblving Sand 3.

Capying is prohibied. Chagter 1 “ - Mahiplication and’ Division with Whole Numbers

| masteryeducatoncom  [7]

' NDERSTAND MULTIPLICATION:

4 HINT, HINT
There'are 7 groups and 2 objects
in each group. How many objects

are there inail?

4 THINK ABOUTIT
The first number tells you how
many groups. Yhat does the
second number tell you?
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 UNDERSTAND MULTIPLICATION - Lesson

Parc A

Write a word UvnoEm.B that can be wo_<ma using5 X 7.

. Sample answer: Eddie has 5 boxes of pencils.
s

B There are 7 pencils in sach box. How many pencils

Ly does Eddie have in ail?

Part B

Solve your word problem. Explain your answer.

- Bample answer

+
a

‘ o i 5 X 7 = 35  Eddie has 35 pencils in

Thereasre Sgroupsol?. 7+ 7+7+7+7=358
inah {drewa-

picture to show 5 groups of 7. L wrots an addition
sentence and a multiplication sentence o maich.

5

Y L

[8]. masteryeducation.com | Mathermatics | Level C

i

is prohib

Shie
Now that you have learned what multiplication means and how to write a multiplication
sentence, let’s help Carrie solve the problem in the Real-¥Wortd Connection.

_Carrie is having a picnic at the park. She sees 5 bicycles parked against a tree. Each
bicycle has 2 wheels. How many wheels does she see.in all?

How can Carrie use multiplication to find how many wheels she sees?

Sample answer There are 5 bicycles with 2 wheels each, so there are
Sgroups of 20 :
2+2+2+4+2
E§x2=10 ,
So, Carrie sees 10 wheels in all.

% i

Copying is prot G Chapter 1 m ‘Muteiplication and Division with Whote Numbers M 3Nmnmn.<mmcnwmm0«_.hoﬂ M 9 M
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B THINK ABOUT IT
’ How many objects are there

altogether? How many groups are
" thare? How many in each group?

1141 B.wmn.ms\macnmao?noa |

Tesson 2° " UNDERSTAND DMISION

Srepione Draw a picture to model the problem.

foi HAS

Draw-6 counters, and put 2 in each group.

There should be 3 equal groups:

, Write a division sentence:

The total being divided is 6.

There are 2 in each group.

There are 3 equal groups, so 3 is the quotient.

H H -~
PR

’a I 3
i H

3. Write a division sentence in which the quotient is the
number of objects in each group.

N
L]
I
e
o1

Mathematics | Level C

THHNHRHERRRRNn
i How Am i Doing?

What guestions do you have?

In this space beiow, make a
drawing o show divisicn.

Write a number sentence to show division.

Color in the traffic signal

that shows how you are

doing with the skill.

Sharing is one situation where we use division. What are other

times when things would need to be divided into equal groups?

B et T BT a0 T B ot T S S O iy Py 0¥

Copyingis p e Chaprer 1 | Mai on with Whole Number

< | masteryeducation.com - [ 15]
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3
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3 i 4. Find the quotient that makes the division sentence true. 5 , .
/W WORK SPACE INDEPENDENT PRACTICE Dt ; G HINT, HINT
= © Answer the questions. T 24 +4= w‘l-vm-l -w " There are 24 objects inali and
m B 4 equat groups. How many abjects
w. 1. Which sentence describes the drawing? are ineach grovpl - .
2
2] g o e i ”
o A e
3 WORK SPACE
=
[
= @& 10 =
w & 10v+1=10
3 | ® 10+2=5 Part A
-~ @ 12+2=46 Werite and solve a word problem for56 -+ 8.
oy .
— O 12+6=2 Sample answer, Becky has 58 oranges. i she puls
— & oranges in each sack, how many sacks will she
[ - -
= 2. Solve. Fi?756 - 8=7
e 92 +6=[]
A 2
& "Part B
@ 6 s the quotient in your word problem the number of objects
e @ 7 in each group or the number of groups you can make?
bt 5 A . Explain your answer.
O , —
Sample answer: The guotlent is the number of
B TIPS AND TRICKS o . ecual groups | can make. This is the number of
You know from the guestion that 3. A store has 8 shirts in equal stacks. How many shirts could : s . | set 56 obiect
swo of the answers are correct. be in each stack? Select TWO correct answers. groups | can make wihen mm.wummmwm ODIECIS
Read each answer choicg and ) into egual aroups with 8 objects in sach grouo.
decide f you can divide B to make . @ @ @ @ @ @ @ . . : .
equal groups with that number Note: The guotient may be either the number of
of objects in sach group. Use the @ 2 shirts i obiects in each group of the number of groups
ictu help you. . K , R
PRy & 3shirts . made. depending on the way the word problem
@ 4 shirts : _ was written. Make sure the explanation given is
consistentwith the pro as written.
©® 5 shirts nsistentwith the problem as winen
g
2 B &shirts
qm. [16] masteryeducation.com | Mathematics | Level C Conying b profiies. .  Copying s - Cliapter 1. meaw.wn.&am and
=
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v HINT, HINT

Break it down. How many cbjects
are there altogether? How many in
. each m_.ocvv Ioi many groups are
" there?

18 I menmw,\macnmao?noa I'M

Write a division sentence in which the nEOanm is the
a:me_, of equal groups.

40+5=8

" Part A

Nancy has 42 stickers. She wants to give the same number of
stickers to each of 7 friends. How many stickers does each
friend get?

Draw a picture to model the problem.

athematics | Level'C

“Part B
Write 2 division sentence to match your picture.
Explain your answer.

Sampie answer:

WORK SPACE

42+:7=8

My picture shows 42 couniers. There are 7 groups

with 8 counters in sach group. There are 42

stickers and 7 groups. So 7 circles ware drawn

with 8 counters in each circle. So, sach friend gels

& stickers.

ication and Division with W

Copying is po Chapeer 1 m Mut

T N e W ot P, 01 e

oie Numbers | masteryeducation.com [ 19]
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UNDERSTAND DIVISION:

Now that you have learned what division means and how to write a division sentence,
let’s help Sam solve the problem in the Real-World Connection,

Sam has 21 fish and 3 fishbowls. She wants to put an equal number of fish in each bowl.
How many fish go in each bowi! ‘

Create a drawing that shows how to use division to solve the problem. Then explain
your drawing and solve the problem.

Sample answer: Thers are 21 fish alicgether, and 3 bowls. Puiting one fish
3t a time into sach bowl, there will be 7 fish in each bowl,
21+3=7

[20] masteryeducation.com | Machematics | Level C Copying is proki

ariqiyoad st Suiddosy
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B HINT, HINT

Put a 4 in each box and see if the
equations are true. =< «»

[24] masteryeducarion.com |

M

et

th
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STERIHE Think: What number can 54 be divided by to get a
quotient of 97 ’

9=54+]

7 Write the division fact.

OR

RTI

Step.Cine Think of a related multiplication fact.
9x =54

SEERE Think: What number multiplied by 9 has 2
product of 547 )

Write the multiplication fact.
IX6=54

5 . P
ee Write the missing number.

Select THREE equations that are true with the number 4 in
the box.

ermatics | Level C

—~

How Am | Doing?

What questions do you havel

. € TURN AND TALK
© With a parteer, find the unknown
factor in this equation: You have

2% puppies. The same number

of puppies were born to each of

3 mother dogs. How many puppies

does sach mather dog have!

Explain how multiplication and division mv together.

Describe a situation where you would use division. How would

knowing multiplication facts help you!

" Copyingisprobibied  Chapter 1 | Maltiplication ang O?,_mwma. with Whaote Néinbers, |. _Smmnmﬂv\mn_.:nmno?now: . MNw.:"

Color in the traffic signal
:  that shows how you are
doing with the skill.
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n3 o FIND AN UNKNOWRN

"What is ,ﬁrm missing number m:.nm,.m equation 8 % [_| = 647
" Vrite your answer.in the box..

Select T WO mncwmoa that are missing the-number 9.

® auuxD

B se==8
B O=21x4
,J@;D\wlw
® O=4x2

©O08

Machematics " keval C T © . Copyingis prok

Write your answers in the boxes.,

6. Part A

5. Complete each multiplication and division equation.

Jesse has 63 apple slices that he wants to share evenly among
9 friends. How many apple slices will each-friend get? ’

B
C 18
© 36

#PartB .

mxﬁm_m how you can use Bc_m_mznwcon to solve ﬁrm m@:mﬂg

63+9=[1

Sample answer: Since division and multiplication

are inverse operations. | can use a related

muitiplication fact | know that 8 fimes 7 equals 83,

s 63 divided by ¢ equals 7.

Copying is prol

Chagrer 1 | Multiplication anc Division with Whote Numbers

H

€ THINK ABOUT IT

Muisiplication puts equal
groups together to make a
rorEl Hivision breaks a m

1o equal groups.

. WORK SPACE

{271

masteryeducation.com
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Tesson'd. . FINDAN UNKNOWN FACTOR .

st Emily wants to divide 8 by 2. She says she can use the related
fact 8 X 2 = 16 because it uses the numbers 8 and 2. What
mistake did Emily make? Explain your answer.

WORK SPACE

Samole answer: Emily needs o choose 8

multiplication fact that has 8 as the productand 2

as one of the factors, not lust any fact that

uses 8 and 2.

Sheshould have used 2 X4 =8ord4 X 2 =8

Emily also did noi see that § + 2 could not have

the same answeras 8 X 2.

i B AT a0 Rl

[28] masteryeducation.com | Mathematics | Level C

Now that you have mastered the relationship between multiplication and division, let’s
help Amy solve the problem in the Real-World Connection,

Amy wants to make friendship bracelets for her 5 best friends. She has 35 beads

to use. She wants each bracelet to have the.same number of beads. She knows her
multiplication facts and has seen’5-and 35 together. How can multiplication facts help
Army to find how many beads she should use for each bracelet?

Sample answer: Since she knows her mulliplication facts, shé knows that

5 X 7 =3B,

¥ 5 groups of 7 make 35, then 35 can be divided inlo .m.,.mmd,wwm of 7:
3B+85=7. L

There will be 7 beads for each of the 5 bracelets. .

%

g
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B TURN AND TALK

How many ways canyou

tive 2nd Asso
Properties?

[32] masteryeducation.com | Mathematies | tevel C -

Just as you can add numbers in w.:V\ order, ‘the Assodiative Property
of Muitiplication says that you can group numbers in any order.

' Find the product for 6 X 4 X 2.

Using the Assodiative Property, you could try several ways:
EX4X2=
24 X2 =48

6X(4X2) =
6% 8=48

If you had & rows of 4 cubes each, and there were 2 layars of
cubes, there would be 6 X 4 X 2 cubes, or 48 cubes altogether.

GUIDED meﬁW@ﬁﬁQZ

There are two rectangular rooms with floors that need 1o be
covered with tiles. The tiles are 1 foot long and 1 foot wide. One
room is 8 feet wide and 5 feet long, and the other room is 8 feet
wide and 4 feet long. : )

8 feet

5 feet 4 feet

How could you find the number of tiles?

Copying is prohibizad.

o0 with Whaie Numbers | masteryeducation.com

1. You could find 8 X 9, 0r you could use the Distributive
Property and break the length of 9 feet into 5 feet and 4 feet.

EreiOng Find the product of 8 and 5.

8 X 5=40

/ Find the product of 8 and 4.
8X4=32

e Add the products.
40+32=72

The floors will need 72 tles.

2. Use the Associative Property to show two ways to multiply
3,4,and 5.

First way: Multiply the first two factors.

BX4x5=
12%5

¢ Second way: Multiply the last two factors.

IXEAXS) =

5 Fatn Find the total product.
3 X 20 =260

3. Select THREE expressions that equal 32.

@ 3x2 ® 8x4
© 4x8x2 ® 4xs.
®& 4x4x2

Cepying is prehibited.  Chapeer 1 | Mul ation and Division with Whoie Numbers

[31]

4§ TIPS AND TRICKS
Since you can choose the order
when you multiply 3 numbers, pick
the order that is easiest for you.

4 HINT, HINT

Think about mult
you know with a product of 32.

lication facts

{ masteryeducation.com

[33]
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= How Am { Doing?

0
g

o B TURN AND TALK What questions do you have?
.u Solve this problem with help from

m a partrier: Cora and Aidan both

w multiply 4 X 3 X 2. Cora multiplies

4 X 3 first and then the 2. Aidan

i multiplies 2 X 2and thenthe 4.

N Who will get the answar correct?

o) Explain your thinking,

P

-

4]

o How can you use the properties to simplify multiplication
3

b problems?

e

fo]

<

L

grjoud st Suddosy
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Lesson 4. - USEMUL

Color in the traffic signal }
that shows how you are
doing with the skill.

[34]  masteryeducation.com

Multiplication is used to find the number of square units

(feet, inches, meters, miles) in a rectangle (a floor; 2 wall,

a field). Describe a time you or your teachers have used

multiplication this way.

@i L

-

Answer the questions.

1. Which division fact can be used to find 9 X 3?

® 9+3=3

B 27+9=3
© 90+9=10
© %0+3=30

2. What is a division fact refated to 9 X 62

Write your answer in the box.

3. Select TWO expressions that are equal to 42.

@ 3x2x7
® 7x7

© sx1x7

® sx7

4, Whatis3 x 2 x.5

Write your answer in the box.

5. Whatis7 x 3 x 32 }
Write your answer in_the box.

Copring isprotibited”  Chaprer 1 | 14

INDEPENDENT PRACTICE

<€ TIPS AND TRICKS
Qn a compuser-based test, you
will nead to TYPE your answer in
the box instead of writing it in.

€ THINK AROUT IT
What property can you: use to
help you find the product?




. Cupring is prof

Chapter 1 | Mutdplication and Division with

Whole Numbers | masteryeducation.com {35]
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7 USE MOLTIPLICATION AND DIVISION STRATEGIES

T B SKETCHIT
.. Try sketching an array of circles or
squares. Co :

¥ TIPS AND TRICKS

Remember to tell how you found
YOur answer

- 6. “Which nxvﬂ..mmmmmu: is equal to-8 x 61"
B @E+e+E+e
B @4x3)+4x3)
© “xe+Exe
D uxe+xe

€

7. Select TWO expressions that are equal to 3 X 7.

@ EXY+TXD

B Gx5+ExXY

C T+3)+7+3)

B Txn+Ex3)

B exn+(x7)

& exe+@ax1
8. Part A

What is a multiplication fact related to 28 %+ 77

Write your answer in the box.

4X7=280rTx4=28 |

[RRSTYRRRN

"Part B

Explain how you found your answer.

Szmple answer: Because tknow that 28 + 7 = 4,

lknowthat4d X 7 =28 and 7 X 4 = 28. This is

‘[36] _ masteryeducation.com | Mathemazics | tevel C

because these facts are part of the same fact famiiv.

ATION AND D

" How could you find the product of 3 X 8 X 2 if you do not
-remember the product of 5 and 87

Sample answer: Uss the Commutaiive Properiy io

change the order of mulliplication:

SX8X2=5X2X8&

First, multiply 5and 2: 5 X 2 = 10

Then. m Wi0and 8 10 X 8 = 80 .

Coprlng is probibited.  Chaprer 1 | Multiplication anc Division with ¥hole Number

SION STRATEGIES Lessond

WORK SPACE

e e AN B0 St ST 8! T i

s | masteryeducationcom | 37]
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Lascon a2 USE MUITIPLICATION AND DIVISION STRATEGIES

Now that you have mastered using different properties to help you multiply, let’s help
Tyson solve the problem in the Real-World Connection.

Tyson has collected 8§ bags of treasure in his computer game. There are 7 pieces of gold
in each bag. He knows he can use 8.% 7 to find-the total amount of gold. He does not
know what 8 X 7 equals. Tyson knows'what 8 X 2 and 8 X 5 equal. How can he use
those facts to find the total amount of gold?

Sampie answer: There are 8 bags of gold, sach with 7 pleces. Tyson can

break 8 X 7 into two smaller products. He can add the products io find the total.
BXT7=8x{2+5=(8X2)+{8x5)

8x2=18
8x5=40
18 + 46 = 58

So 8 x 7 = 58. Tyson has 586 pieces of gold.

[38]
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poalqioud s 3y

You ¢an also use the >mmoamc<m P,ovaQ to :EEEV\ E\ a BcEn_m
of 0.

- mo_> meBv_m 3X mo = w X X \mou because 50 isa

Mx\*o

o

2 HGWZ.%Z.D .m.»,EA i Find the Uwoacnﬁ and answer.

There are 3 groups of 4 tens, or 3 X 4 tens.

mevc,c use '.?»}mmOr gcm. 0= m 280 W
Property o m:o,? %mn» X40and. - 3 X 4 =12, so there are 12 tens. . ’ S H
4 %730 have the same oar..ﬁV . "‘-;!.--::.M .

: ! o 12 tens'is 120. - : Thereare; 280 |pendils.

50,3 X 40 = 120.

)

= “multiple of 10, . ! i o

L AmeVXAOIAmX‘_O Oﬁ\“mo O_»‘_mﬂmnm ’ " What'is 8 X 207

- & - Or, think about place vatue and use v_mnm -value EOnwm o ] 20isa m\.EEv_m of 10: 2 X 10'=20

- mroé groups. 9“ 190. , . . . o : )
-z : o -+ 50,8 X 20 =8 X (2 X.10).

= moﬂ exam _m 3 X 50is3 woc_uw 9q 50,501is 5 tens, so |

P! 8

nn@.w.. " there are3 X 5 tens, or 15 tens, or 150. : mSnm we can multiply in any o&m_. we can BEEu_v\ 8 X N.T.mﬁ

= T e mXNvX\SI

m, 16 X 10 = 160

3 =

» b SKETCH s S0, 8 X 20 = 160.

b

[ F the space below aBS three - - .
W mncm:.my munr with fourcircles’ ] ' Iy b

g e GUIDED INSTRUCTION

2. . ;. dircle represents a ten. A

w ‘ Many items come in multiples of 10 because it is easy to keep

3 track of the total amount. If a box holds 40 pencils and you have

W 7 boxes, how mary pendils do you have?
. W .M Evaluate the expression 7 X 40 to find the number of pencils.

O " . n

oy : = VVrite an expression with 10 as a factor. 4 TIPS AND TRICKS ¥
| £ X X . There are several ways to think

....nuw ) 4of the months in the year have 30 days. How many days are 7 X (4 X10) : about these problems. Use the
' m Sl . ﬁTOWm # months? Find the value of 3 X'40. . Wa Use the Assodiative Property to rewrite the miethod that works best for you.

@ L L L . Use place-value blocks to show 3 groups of 40. expression..

oo This is the same as 3 groups of 4 tens. : (7 X4)x10

3 .

o

17}

(=
. @

=

<

o

o

c

(%]

& -

=

o

2

[}

o.

3

‘...mmbm.....,Bmm,nwa\macﬂmﬂow.nog if Mathematics | Level C - RS | Copyingis prol Chapter 1 | Mutd

tication and Division with Whoie Numbers | masteryeducation.com [ 41 ]
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¥ THINK ABOUT IT
Use estimation to help you. Since
6 X 3 = 18, you know that 6 X 30

be greater than 18,

[42]

b

masteryeducation.com | Mathematics | Level C

2.

Evaluate the expression: 6 X 30

StepiOg Just as you can skip-count by 3s, you can skip-count
by 30, six times.

30, 60, 90, 120, 150, 180

StepTws Find the product.
6 X 30 = 180

Find the value of the expression: 4 X 60

2 Rewrite 60 using place value.
60 = 6 tens

k Use a multiplication fact.
4 X 6tens = 24 tens

ree Find the product.

There are 9 boxes. There are 80 tissues in each box. How
many tissues are there in ali?

e Write a multiplication expréssion to represent.the

number of tissues.

9 X 80

Rewrite the expression with 10 as a factor.
9 X (8X10)

: Use the Associative Property to rewrite the
expression.

(9% 8) X 10

Copying s prok

: Find the product and answer.
9 X 80 =720

.
There are

5. There are 6 third-grade classes. Each class has 20 students.
Select TWO expressions that show a strategy that can be
used to find the total number of students.

G HINT, HINT

There are & groups of 20. Which
expressions are equivalent to

\Mﬁ/ 6+ 30 & X 207
B e6x2+10)

&) 60.120, 180, 240, 300, 360

DO 6x2x10

@ 6 X 2 tens

n with Whole Numbers | masteryeducation.com
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Copying is
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[44] masteryeducation.com |

: hmmmg. 5

Ioé >B m 005%

B TURN >.zo ﬂpmw

more words can fonathan text than
Eliza in 7 minutes? Explain.

Color in the traffic signal
that shows how you are’
- " doing with the skill.

e s ot

What ncmmﬂmo:m.am you havel

*Show how you could use more than one strategy to :EE@?

by a multiple of 10.

Describe an example where you would muitiply by a multple
of 10.

Mathematics ! tevel €

Copying is prohibited.

MULTIPLY BY MULTIPLES OF 10 LebsonS

INDEPENDENT PRACTICE

Answer the guastions.

1. Dance classes cost $60 per month. Classes are 8 months long.

How much does it cost to take a dance class?
@ se8
® s140
© s420

D s$480

2. Amanda buys 4 packages of notebook paper. Each package
has 90 sheets. Select TWO expressions that show a strategy
that can be used to find how many sheets of paper there are

inall.

@ ¢4 x90)x10
® “4x9+

© 40.80,120, 160
@ 90,180, 270,360
E) 4 X 9tens

@ 4 tens X 9 tens

3. _ There are 7 trays on a rack. Each tray holds 60 fruit cups.
Select TWO expressions that can be used to find how many
fruit cups there are in afl.

@A 7 +60)x 10

® xex10
) ,
© 13x10
By 42xX10
Copying s prohibixed.  Chaper 1 | Multiplication and Division wich Whoie Numbers

4 TIPS AND TRICKS

Tha problem is about equal

groups. identify the number of
groups and the number in each
group. Cross out the answer
chaoices that are not reasonable.

@
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% THINK ABOUT IT

Think zbout the factors in the
problem. How can you use what
you know about multiples of 10 to
soive the problem?

WORK SPACE

i

The students in Declar’s class read 20 minutes each night
as part of their homework. How many minutes has each
student read after 7 days?

Write your answer in the box.

i 140 iminutes

What number belongs in the box to make an expression
equal to 6 X 5307

6 x[ly x 10

10

0™

Which problem can be solved with the expression 8 X 407

8 students each brought in packages of 40 cups. How
many cups were brought in altogether?

@ There are 8 students and 40 cups. How many more cups
are there than students?

) There are 40 students in the class, but 8 are absent today.
How many students are not absent?

@ There are 40 students split evenly into 8 teams. How
many students are on each team?

Part A

Gianna practices piano for 40 minutes each day for 5 days.
How many minutes does she practice piano in all?

Write your answer in the box.

; ,
i minutes

H
H
H
:

“Part B

Describe the strategy you used to find your answer.

Sample answer: | skip-tounted by 40 five times:

40, 80, 1208, 160, 200C.

8. Part A .
A math textbook has 9 chapters. There are 30 pages in each
chapter. How many pages are in the book?

@ 90
B
© 120

©® 270

‘Part B

Describe the strategy you used to find your answer.

Sample answer: { used a multiplication fact,

g times 3 tens is 27 tens, and 27 tens is 270,

o WORK SPACE

triaster yeducatiohi.com
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Now thatyou have mastered multiplying by a multiple of 10, let’s solve the problem in
the Real-Yvorld Connection. )

“The students at the talent show are performing in front of a “full house.” This means
every seat in the auditorium is filled. There are'5 sections in the auditorium, and each

section has 50 seats. How many pecple.are watching the show?

Copying s proh " SIS N ’
pr w1 | Muldplication and Division with Whole Nusnbers | masteryeducation.com MAN M

280 people aré'walching the show.

N
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. SOLVE PROBLEMS WITH MULTIPLICATION AND DIVISION

2: An orchard has'48 apples trees. The trees are planted in
6 mncw. rows. How B,w3 trees arein mmn: row?!

w«mmiwﬂi@ Umn_n_m Ermm ovmaﬁ_o: 1O use.

I need to find the total number of trees in each group,
so | will use a

mnms H_wmmm Oroomm a mm_dmm@\ to solve the problem.

,_nws Cmmmmmﬂ family:
meH.Am 48+6=8
8Xé6=48 48+8=5¢

"Gl Solve the problem.

N
H

._.rm_mm..m«m P8

!trees in each row.

3. Siais making hair bows for her friends.

» TURN AND TALK

* Which multiplication fact is refated

She needs 2 feet of ribbon for each bow.

2o the division fact? Sia has 18 feet of ribbon. How many bows can Sia make?

- B - . Write the correct number in each box. Then write the

solution.

2xi 8 =i 18 |

po18 i+ 2=1 8
e i

Siacanmake: 8  ibows.

[52] EmmmemmcnmnmanoB { Mathematics | Level C

Copying is prohibized.

How Am | Doing?

SOLVE PROBLEMS WITH MULTIPLICATION AND DIVISION

What questions do you have?

Which strategy for solving multiplication and division

problems js your favorite, and why?

‘Describe situations where arrays are used, or where you

have seen an array.

St

Chepeer 1 | Mul

ie Numbers

ixgic}i%

[51]

Lesson 6

masteryeducation.com

GSKETCHIT

in the space below. draw an array

and writeam fication sentence

that solves this problem: Alexis has
2 baskets of oranges. Each basket
How many

has 8 cranges
oranges are in the baskets?

Color in the traffic signal
that shows how you are
doing with the skill.

{531
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YWORK SPACE

Answer the questions.

1. Kiley has 40 blocks. She made a stack of 5 rows. Then she
put an equal number of blocks in each row. Which array
shows how many blocks are in each row?
® B
.

@
e
@
K
H.ﬂu rmasteryeducation.com | Mathematics 1 Level C : e Copying is profi

INDEPENDENT PRACTICE

2. There are 24 markers in a package. The markers are

divided equally and given to 3 friends. How many
markers does each friend get?

Select THREE related facts that can be used to solve
the problem.

@ 24+8=3

® “+6=4
@ sx3=24
D 6x4=2

B 3x8=24

3. Four friends are playing a game. 36 cards are dealt out
between the friends. Select TWO equations that can
be used to find how many cards each person receives.
@ 144+36=4
® 36+4=9
& 4%x9=136
O 36x4=144
B 36+9=4

4, The Explorers Club is camping. There are 4 tents.
Each tent has 5 campers. What is an equation you
could use to find the total number of campers?

Write your equation in the box. Use 2 box to stand
for the unknown number. :

w g =1 1
RM.«AU]E

pumm—-
[ S——

Copying s probibied. . Clpter 1.} Mult

<4 TIPS AND TRICKS
Immw,_ﬁwn the important
informatiori; An-example might be
the numhber of groups or the total
number of markers. Be sure that
the answers you select no:ﬂmi.nym,
inforroation.

WORK SPACE
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Maria gets a magazine every 3 months. How many magazines
does Maria get each year?

12

BO®®

A pencil box holds 12 pencils. Each child is given 2 pencils.
How many children are given pencils?

Write an equation you can use to solve the problem.

i2+-2=8

Parct B

How many children are given pencils?

Sampie answer: Six children are given pet

Pare C
How many children will get pendils if sach child is given
3 pencils? Explain how you found your answer.

Sample answer: Four children get pencils.

{ used the squsation
AXI=12 lknewthal 3 X 4 = 12,

i is prohbited,

SOLVE PROBLEMS WITH MULTIPLICATION AND Dvision Legson 6

7.7 Select THREE shtuations that can be solved with the
- equation 6 X 7 = 42

“§ HINT, HINT.

In the equation. which number is
7 students are sitting on each row of bleachers. There the rotall Which numbers are the
are 6 rows of bleachers. How many students are sitting

on the bleachers?

nurnber of groups or number of
objects? How doas this help you
deci problems can be

soived with the eguat

&

7 children got to soccer practice on time. 6 children were
late. How many children are at practice?

©

42 apples are placed in bags. There are & apples in each
bag. How many bags of apples are there?

WORK SPACE
There are & minivans. Fach minivan holds 7 people. How
many people can ride in the minivans in ali?

6 friends want to play kickball. 7 others want to play
soccer. How many more people want to play soccer

@

@

Sttt 1 BN b, s s W et

Capying i ation and Division with Whole Nembers | masteryeducacion.com M 57 wm

Chapter 1 | Mo




kS

oad st Suildory

CATION AND DIVISION -

Now that you have mastered solving multiplication and division word problems, let’s
solve the problem in the Real-¥Vorld Connection.

The third-grade students are having a science fair. There are 27 students in Ms. Scott’s
third-grade class. Ms. Scott puts the students into groups of 3 to complete their projects
for the science fair. How many groups “s.\:..Zm... Scott have? Write the multiplication fact
you can use to solve the problem, and then write the sélution.

Szmple response: | can use the mulliplication fact @ X 3 =27 This shows
that 27 + 3= 9. There will be 8 groups. :

r:

[58] masteryeducation.com } Mathematics | Level C
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Answer the questions.

1. Jessie has 14 rocks and 2 bags. She wants to place an equal number of rocks in each bag.
How many rocks should Jessie put in each bag?

VWrite your answer in the box.

Select THREE number sentences that describe the drawing.

cogloogcogcos

3 groups of 4
4+4+4+4
4X3
4 groups of 3
4x4

3+3+3+3

Tom says he can write a multiplication sentence for 3 + 4 + 5. Does Tom's statement
make sense! Explain your answer. ]
Sample answer: No, it does not make sense. To multiply, vou need squal
groups. There are not equal groups in3 + 4 + 5.
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ER PRACTICE TEST
2
o
A . A A :vwmlw:.,v_mnwm 21 books in equal stacks How many books could be in each stack? 7. Write the number in the box that correctly completes each multiplication and division
pores " Select TWO correct answers. - equation.
= . . ; .
B | 20000000000000000080
- @ 2 books .
= B 3books
= © 4books
3 .
Wlh. @ 5 books
m, E) 6books
® & 7 books
3 :
Y :
< : . . :
m... .<<.._mm the numbers drm.m woﬁﬂmﬂn._v« complete the mwvm.m. Maria has 24 hair ribbons. She wants to share them evenly among her 4 sisters.
= . She knows she needs to divide 24 by 4. Complete the equation that Maria can
b3 use to find the answer.

Fill in the blank.

4%

A Which number makes the expression below equal to 5 X 8!
Select TWO expressions that are equal to 7 X 9. o 2 GEx2)+Ex[D

® Fx3H+Tx3 .
® Gx9N+@@x9)
© 7+3+F+3)
O X7 +(EX3)
® Tx8+Tx1
® cxe+@2x3)

@
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Explain how you found your answer to Part A.

Sample answer: When multiplving, | cen break numbers apart. The

answer is 6 because 2 + 8 = B. insiead of multiplving 5 by 8, L can

multioly 5 by two numbers that equal 8. Because 5 X 2 is shown, | know

the other pariial productis § X 6.

10, The desks in a classroom are arranged in groups of 5. There are 6 desks in each group.
How many desks are in the classroom?

Part A

Draw an array that represents how many desks are in the classroom.

Part B

Write an equdtion to show how you found your answen

Sampie answer. Thers are 30 mmmxm. B X 5=30

Part C
Two more desks are added to the classroom. Now the desks are arranged in groups of 4.
How many groups of desks are there? Explain how you found your answer.

Sample snswer: Thers ars 32 desks because 30 + 2 = 32, Because

32 + 4 = B, there are 8 groups of desks,

41.Find the quotient that makes the division sentence true.

3B+ 7=

12. Select TWO number sentences that show 5 groups of 3.
5+3

3+3+3+3+3

®

5X3

©ee

5+5+5
3+3+3+5

413.The art teacher cut é-inch pieces of yarn for a project. She cut 30 pieces of yarn. Select
TWO expressions that show strategies that could be used to find how many total
inches of yarn the art teacher used.

2

(6 X 30) X 10
{6 +3) X 10
(6 X 3% 10
30, £0, 90

OO0

P

18 groups of 3 tens

@ 6 groups of 3 tens

@

14.Part A

Mark solves 20 math problems each day for 6 days. How many math problems does he
solve in alf?

Sample answer: Mark solves 120 math problems.

Part B

Describe the stratégy you used to find your answer.

Sample answer: | skip-counted by 20 six fimes: 28, 40, 80, 80, 100, 120..
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P SKETCHIT
" In the-margin draw a number
line to finid Which of the numbers
.‘below rounds 1o 300 when
rounded to the nearest hundred.
- 342, 396, 309,375,297

INT, HINT .

2 tens digit plays an imporzant

role ,..«..wm: rounding to the nearest

hundred, Remember, i the tens

is 5 or more. increase the

. indreds digicby 1 and write a0 in
+ the ones and tens place.

[68] masteryeducation.com

Round $722 to the nearest hundred dollars.

Look at the digit in the tens place. The digit is 2.
‘Any digit 4 or lower rounds down.

4. <.,<:ma rounded to the nearest rm:n_«ma.. which numbers

M

" round to 3007 Select THREE correct answers.

® 34
B 39
© 309
O a5
® 27

athematics | Level C

ROUNDING

How Am | Doing?

4 TURN AND TALK

VWith the help of a partner, answer

VWhat questions do you have?

rounds his number w the nearest
rundred, itis 800, Whatis the
aumber he could be thinking of?
Explain. ’

Think about your house or apartment number. Can you round

that number to the nearest ten and the nearest hundred?

Explain your answer.

Color in the traffic signal
that shows how you are
doing with the skiil.

What is an example of 2 time when you would only need an

estimate and not an exact answer?! What are some words that |

indicate an estimate?

e i PP g Btk T g

Chapter 2 | Number and Operations | masteryeducation.com [e9]




MZ@MWM?@UW% Mugm.w..wmm 5. Select TWO numbers that round to 600 when rounded to 4 HINT, HINT

WORK SPACE the nearest hundred. )
) ) To round to the nearest hundred,
Answer the questions. @ 498 iook at the digit in the tens place.
1. What is 643 rounded to the nearest ten? @ 605 " o )
. @ 6t
® 600 © WORK SPACE
®& ¢4 © 630 |
© 43 ® 7
’ A
O 650

6. Select THREE numbers that would round up to the nearest

2. There are 372 seats in the auditorium. ten and round up o the nearest hundred.

To the nearest hundred, about how many seats are in the @ 889
auditorium? @ %05
1

@& 300
g . ® 376
B 370 A

() 949
i)
© 380 B 165
& 400

7. To raise money for a school trip, Ricardo's class is selling

3. What is 833 rounded to the nearest hundred? !
raffle tickets. During the first week, they sold 253 raffle

@ 830 tickets. During the second week; they sold 389 raffle tickets.
@ 840 B Which expression will give the bést'estimate for the total , ,”
g ! :
@ 800 . number.of tickets Ricardo's class sold?
Gy
D %00 @& 250 + 380
4. Which number rounds to 40 when rounded to the nearest @ 250 + 390 e . T , "
ten? ) © 260 +390 ;
® 35 © 260 + 400 .
B 34 - : o .
~ .
< 47
- w35;».n...s:§.y.:t.&?n.?\?.,.s,..”ia“.,.v.xs.,is. @ 45

1 Sukdony
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» THINK ABOUT IT
Explain the reasoning you used o
. getyour answer.

8. Part A

Round 647 to the nearest ten. Write your answer in the box.

WWORK SPACE

g ST e 50,

wod'uolzeonpaklojsew | suopeled) puetequiny | 7 Jeideyr

]

[72] masteryeducation.com | Mathematics | Level C Cogying is prohi

Part B

Explain how you rounded 647 to the nearest ten.

Sample answer: | looked at the 7 in the onss place,
and since 7 is greaterthan &, irounded up to the -
next 18 and got 85G.

Part A

Thornas says that 448 rounded to the nearest hundred is
500, because 48 is closer to 50 than to 40, and 450 is closer
to 500 than to 400. Thomas is incorrect. Explain how to
correctly round 448 to the nearest hundred.

Sampie answer: When rounding to the nearest
hundred { ook at the number in the tens place

and & is 4, Since 4 is jess than 5, the number gets

rounded down to the lower hundred, so this would

round down {o 400,

Part B

Select all of the numbers that would round to 500 when
rounded to the nearest hundred.

@ 531
.@&m

Now that you have mastered estimating values by rounding to the nearest ten and
nearest hundred, let’s solve the problem in the Real-World Connection.

The city zoo has new penguins. On Saturday, 227 pecple came to see the penguins. On
mc:aw& 362 people came to see the penguins. About how many people visited each day?
Round to the nearest ten and the nearest hundred. .

Lock at the scavmm 227.

g
[l
b
M
N
pw]
=
0
1=
5
a.
®
o
[
o
o
&
[
5
]
B
o
“w
ot
=
£
3
)
Q.
]
]
%)
<

Look at the number 362.

Vhat is 362 rounded to the nearest ten? M 350 m

Rounding to which place gives a closer estimate of the number of people that came to
see the penguins each day? Explain your answer.

Rounding to the tens place gives a gloser estimate. The rounded value is

closer 1o the exaci value,

Chapter 2 | Number and Operations | masteryeducation.com
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B TURN AND TALK Break Apart Strategy
Think absur the two strategies. Break apart to add.
When might the break aparz 258 + 327 200 + 50+ 8
strategy work better than & +300+20+ 7
up swziegy! 500 + 70 + 15

Break apart the addends.

Add each place value.

Add the sums. 500 + 70 + 15
= 585, s0 258 + 327 = 585.

Place Value

Add. 286+ 635

Add the ones.
6 + 5= 11, so regroup
10 ones as 1 ten.

Add the tens.

1+ 8 + 3 =12, so regroup
10 tens as 1 hundred.

Add the hundreds.
N 14+2+6=9
h 11
286
+ 635
921

1761 masteryeducation.com } Mathematics | Level C

Break apart to subtract.

369 — 132 300 +60+9
-100—-30—-2
200+ 30+7

Subtract the hundreds.
Subtract the tens.
Subtract the ones.

Add the differences.
2004+ 30+ 7 =237, s0
369 — 132 = 237.

You can use place value to add and subtract.

Subtract. 317 — 109

Subtract the ones.
7 < 9, so regroup 1 ten as
10 ones.
Subtract the 9 from 17 ones.
17—9=8
Subtract the tens.
0—-0=0
Subtract the hundreds.
3~-1=2

617

377 -

— 109

208

GUIDED INSTRUCTION

1. During the first week of the summer, the concession stand at
the waterpark sold 156 ice cream cones and 257 popsicles.
How many total treats were sold? How many more popsicles
were sold than ice cream cones?

Add to find the total number of treats seld.
You can use the break apart strategy.

S Break apart the addends.
100 +50+6+200+50+7

Add the hundreds.

e Add the sums.

BT

g 3
jgm_,mém«mw.bxww“ﬁﬂmmﬁmwoiiw:.

Subtract to find how many more popsicles were sold than ice
cream cones. Find 257 — 156.

You can use the place-value strategy.

Subtract the ones.

4 TIPS AND TRICKS

just one straregy for finding

the sum. Try using place value or
another strategy.

masteryeducation.com | 77 ]
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B HINT, HINT

Subtract the hendreds, then the
tens, and finally the ones.

B TIPS AND TRICKS
" This is the mmn,o.sn..v.wwﬁ of the
question. ‘Look back, at the work
you completed in Part A. Add the
differences of the hundreds, tens,
- and ones. Record the sum, Thisis
the difference of 434 and 121.

[78] masteryeducation.com

1

{

There were] 101 { more popsicles sold than ice

cream cones.’

2. PartA

" Solve 434 — 121 using the break-apart strategy.

300

£
L]
|
N
<
i
ke
<

i
(9]

S
...I...
b

Part B

Firid the difference. Write your answer in the box.

434 -121 =1 313 !

Mathematics | Level

FLUENTLEADD AND SUBTRACT

—— o -— ; — — y— — n — — —,.?..— —.L— —z — —i— —ﬁf—,—.__s.-,— s

How Am | Doing!

& TURN AND TALK

What questions do you have? :

Vith a partner, answer the
¢ g Owen swims for
tes in the morning anc

find out how many

4 swam in all. Explain why you chose

Write down three numbers between 0 and 1,000. Show two

ways to find the sum. : :

Color in the traffic signal
that shows how you are

What are some strategies you can use to add or subtract?

Make a list and tell when <.0c would choose to use each.

Give exampies to SUPPOrT your answers.

&t

Chapter 2 | Number and Operations | masteryeducation.com {791
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SOI'S 7 ELUEMTLY ADD ANID SUBTRACT

-, FLUENTLY ADD ANDSUBTRACT . Lesson

B TIPS AND TRICKS

Think about the answer choices in
question 1. Do any not make sense
as the sum of 82 and 497 f so, you
can cross that answer ch

out.

B HINT, HINT
The total is 573.
addend is 219, Vhat number
added o 215 is 3737
Use subtraction to heip you.

You know one

[so] BNmM.mJ\mmcnmaghoi

5.

Mathematics. |- Level C

INDEPENDENT PRACTIC

Answer the questions.

1. Solve.
82 + 49 =[]
& 33 & 121
© 127 ®& 131

2. Pete has 197 beads. He gives 39 away. How many beads
does Pete have remaining?

VWrite your answer in the box.

3. Think about the problem 530 + 156.
Use the break-apart strategy to solve. Complete
the chart to show each step in order from 1-—4.

0+6=6 3
N 600 + 80 + 6 = 686 4
30 + 50 =180 2
MOO._r\SOHmOO 1

4. Write the number that correctly completes the -

subtraction equation.

6. There are 518 books in the library. There are
327 fiction books. How many books are NOT fiction?

@ 11
®& 191
© m
O 845

" Vale finds the value of the expression 12 + 29 “+ 188.
She used the Commutative 13,%&.&.% of Addition in her
first step and the Associative m«ovma 0* Addition in rmw
second step.

Part A

Show the steps that Vale could have used to find the value
of the expression. Be sure to label each property in your
work shown.

Sample answar:

1

12+ 29 + 188 = 12 + 188 + 28: Commutative

{12 + 188} -+ 24: )mmonmmm«m

=200+ 28 -

= Z2G:

Part B

.Name the strategy you used.

Show another strategy .%mn can’ _um :mmn_ o wom<m <m_mm E.oZmB. E

Sample answer: | used placs Valus 1o add.”

120 e
o9
4188 ¢ N
L2290

jyoud st Suddon
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« Now that you have mastered using different strategies to add and subtract, let’s
“solve the problem in the Real-World Connection.

A movie theater has three showtimes. The theater sells tickets to 120 people for
the first show, 162 people for the second show and 180 people for the third show.
The movie theater has 247 seats. How many people see the movie in ali? How many

seats are empty at the third show?

Add and subtract to find w_\.wm answers. :
Add the number of people at each show to find the total number of people who

seethe movie.

482

120 i+i 162 i+1 180

Subtract the number of people at the third show from the total number of seats to
ind the number of empty seats. Use place value to subtract. Regroup when necessary.

[es]

.

.
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?Hq!qo.xd s1 Suwike

,w.mmm,%m Bl Use estimation to decide i your answer
is reasonable. ' -

i

Round 12 down to 10.

Check your answer. s it reasonable?

Look at the original equation: 16 + 16 X 2 = x.

A
“tr
SR  TRA R THRTR

Then multiply and add.
Round up the 16 in the multiplication step to 20.
und up the 16 in the multiplication step to . 3% 10 = 30and 30 + 6 = 36
You know that 20 X 2 = 40, and 40 + 16 = 56. . -
So, 36 is a reasonable answer because it is close to 42.
So, 48 is a reasonable answer because it is close to 56.
. m@wwmmm Mzm«ﬁwmmﬂ.w@z 2. One-fourth of Sidney’s karate class has blonde hair. There € THINK ABOUT IT
are 28 children in Sidney’s class. Four adults with bionde it doss X resresens? Vrite &
: hair join the class. Wha is the total number of people in down T
Mw 1. Brittany brought oranges as a snack for her class. She the class that have blonde hair? .
B brought 3 bags of oranges. Each bag contains 12 oranges. She
a also brought 6 more oranges to make sure she had plenty of Write the equation.
Hu oranges for everyone in the class. How many oranges did she o8 ter4+: 4 i=x
bring to class? ; : : :
- ) Use the Order of Operations to solve the equation.
= S & Use a letter, x, to represent the number you are i
m trying to find: the number of oranges she brought to class. T
g number of  exurz
= bags oranges
& 3 ;
2 W X 12 + M =x i people in the class have blonde hain. "
‘Muu anWmm in
2 B TURN AND TALK cach bag
2 What would you do if your answer » R 3. Which equation can be used to solve this word problem? € HINT, HINT
W MMMM”HM”W_X after checking Btepifwg Vrite the equation. Arianne has 4 packages of stickers. Each package has Use he Hm..ﬂm‘ 10 represent the
73 v ! Look w.uw words in the problem to help you decide which 6 stickers. She gives 3 stickers to her friend. How many :cﬂmm., «o.c e wving o ms -
- operations to use. stickers does Arianne have left? the number of stickers Acianne
has left. Lock for wards in the
W : Use the Crder of Operations to solve @ 44+6—-3=x vwov_ms to heip you decide which
m the equation. @ 4X3—6=x operations 10 use.
o] Multiply first. Then add. ) .
S : © 4x6-3=x
o 3IX12+6=x A
o +3X6&=
a _ 36+6=x- D 4+3x6=x
&
w. 42 =x
A Brittany w8cm:ﬁm 42 Woazmwm to class.
m ) Mo i e -
[8s ”_ Bmwn,m@,macnwao?no_ﬂ | Mathematics | Level C ibized. Chapter 2 | Mumber and Operations | masteryeducation.com {87]
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Lesson’9 i

P TURN AND TALK

Solve the foll

z partner: Sebastian had $20. He
spent $€ on lunch. He wants to b
2 games that each cost $5. Does
he have enough monsy to buy the
games? Expiain your answer:

How Am { Doing?

What questions do you have!

Color in the traffic signal
that shows how you are
doing with the skill.

i

What are some words in a word problem that would indicate

that you would need two or more steps, or operations, to

answer? Write down as many words as you can think of.

Write an equation with more than one operation. How do-

you use the Order of Operations to solve it?

[88] masteryeducation.com |

=

Mathematics | Level C

Answer the questions.

@ 20+2x20=x
B 20x2x20=x
© 20+2+20=x
® 20+2-20=x

2. Look at equations A, B, and C.
A9X3I—2=x .
B:2+7X3=x
C4+14—-3=x

INDEPENDENT PRACTICE

1. Which equation can be used to solve this problem?

There were 20 goldfish in 2 tank at the pet store. There
were twice as many tropical fish in the next tank. How
many total fish were there in the two tanks?

Compare the values of x in each equation in the boxes.

c i<i B

< A

equation did the student solve correct
Operations? A . .
@ 100+4=15=x

x =10

X

® 12%x6+2u=

)

3. Look at each equation.and the student’s answer. Which .

y-using the Order of

4 TIPS AND TRICKS

You may want to write the
equation without looking ar the
answer choices first and see if
yours matches any of the cholcas.

WORK SPACE
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B HINT, HINT
Remember 1o create an
equation before you try 1o solve
the problem.

4, Jennifer counted all the cars in the school parking lot. She

counted 29 cars vw.%ma in the lot. Five people drove out of

- the parking lot. After that, 16 more cars drove into the lot.
How many cars are there now?

Write numbers in the boxes to make a true equation.

26 =i 5

.l,.
Y
o
I
Lo
3

5. Part A

Solve the word problem.

Miguel had 10 markers. Seth had 4 times as many markers
as Miguel. How many markers did they have altogether?

Write your answer in the box.

B HINT, HINT
if they found 15 kinds of insects
that wers the same, they should
only be counted 1 time.

[90] masteryaducation.com |

Part B .
Name the operation you needed to perform first in the word
problem. Explain how you know.

N

Sampie answer: | had to perform muitiplication first
The Order of Operations lslls me {o multiply before
adding.

. Part A

‘ Kenny and Chelsea were counting how many kinds of insects
they could find. Kenny found 32 kinds of insects. Chelsea
found 27 kinds of insects. However, they realized that they
found 15 of the same kinds of insects. How many kinds of
insects did they find in all?

Write out your equation and solve it.

A=32+27—15

A=59~15

]

A =44

Mathematics | Level C Cosying is prohisitc

o Part B

o

“Explain how you can use rounding to check your answer. WORK SPACE
Sampls answer You can round the number of kinds

of insecis Kenny found to 30, Then, round the

number of kinds of insecis Cheisea found o 30. Add

those two numbers together and then sublract 18

o get 45,

Deanna uses the equation 20 + 20 X 2 = x to solve the

' following word problem:

Melissa took her dog on two walks today. She walked her
dog for 20 minutes in the morning. In the afterncon, she
walked her dog for half the amount of time she walked her
dog in the morning.

Deanna’s equation is incorrect.

»  How many total minutes did Melissa spend walking her
dog today?
Be sure to include the equation you used to solve
the problem.

= Show all your work.
Sample answer Melissa walked her dog for

- 30 minutes today.
number of minutes In moring: 26

number of minutes in afierncon: half of 26 = 10

{otal number of minutes 20 + 10 = 36

R T SUNTP P ITIE  Yo

Chapter 2 | Number and Operations | masteryeducation.com [91]
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Now that you have mastered solving two-step word problems by writing an equation
and using the Order of Operations, let's solve the problem in the Real-World
Connection.

Sam’s class gives 45 new books to the school library. juan’s class gives 30 new books to
the school library. Mr. Jallaq, the'school librarian, gives 20 of the new books received by
the school library to the local children’s hospital. How many new books remain at the
school library? Write and solve an equation.

45 + 30 — 20 = x: The library has 55 new books.

" : . W,

[92] masteryeducation.com | Mathematics | Level C . Copyieg is profibired.
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b HINT, HINT

Think about the properies of .

addition arid look for patterns.

[98]  masteryeducation.com | Mathematics | Level C

jm r,mr__mrﬁma numbers are products with a factor of
5. <<:mﬁ do you notice about the ohes Emnmm of the naacnﬂV

._,rm product of 5 and any :ca_um_, m_iwv\m endsin 0 .

.0.2 5 . m.

mmwmnﬁ ‘m.%mm mﬂmmmgm:mw ﬂrmﬁ are true mvoﬁ the rwm_._:wrﬁma
numbers in the hundred chart.

The high .m.rnmm :c?vma show skip-counting by 4.
Any even number plus 4 is odd.

The table lists multiples of 4.

9066

All the numbers end in 0 or 4.

@ The rule for the _uwﬁmﬁ,: is “add 4.7

H Carying is proh

) ﬁwmmmm« w ] Zz.gwmm. and Operations | masteryeducation.com | 9771

How Am | Doing?

& TURN AND TALK

Solve the §

What questions do you have?

ith help from a
§ ) partner: Forevery 1 cup of orange
L Juice, Lila adds 4 cups of ginger zle
How many cups

of ginger ale will she add if she has
3 cups of orange juice! Exp

rude you used.

What is one pattern in the numbers on your ruler?

Color in the traffic signal
that shows how you are

i : ¢ doing with the skill.
How can you apply the Commutative Property to your "

W

morning routine? Does it matter in what order you sat your 4

breakfast, get dressed, and brush your teeth?

2, p S

PR

Copying is prohibited. Chapter 2 | Number and Operations | masteryeducation.com [ 99 ]




0 '/ IDENTIFY PATTERNS

What is the rule for the series?
'3,6,12,24,48.

Write your answer in the box.

INDEPENDENT PRACTICE 3

Answer the questions.

WORK SPACE

1
!
i
1
1
'
'
'
'
'
|
'
1
i
\
H
1
1
1
i
i

4. Which rule shows the pattern that is highlighted on the it ' . )
B HINT, HINT hundred chart? ’

A pattern follows the ruie for
avery number in the series.

11[12({13|14(15]|16{17|18]19 mo : B
65,70,75,1 80

o
an
0
bed
©
i

%EE% Eﬂﬁmm W%n,,m ,mmomamamm:)mxmcwmsmammmwm__m.Imiﬂoﬁmmsmnmmao:
EE@E 65 @EE% 70 ~ for each array. . ,
AZER

OO0 ©06 , |
OO0 OO0 OO
OO0 OO0 OO0 OOE

=y
o
o~
Pa—
3
)
w
ot
[¢]
=
~
[0
o.
s
0
5]
o
o]
>
0
o
3
=X
o
ot
-
o
3
2.
Ty
v
—
[0}
<
o
O

P HINT, HINT =~

Write an equation o show how
10 get from the first number o the

second number. Do this for ever
pair of numbers in the series.

[100] masteryeducation.com | Mathematics | Level C

IR w » i

&) "add6 1X3=3 2xX3=6 3x3=9 4x3=12

B “add3” v
- @ “multiply by 6” Which staterent is NOT correct? ‘

@ “multply by 3" & 3tmesaneven number equals an even number. i

2. Which is the rule for the series?

7.12,17,22,27 ... -
A “add 57

B “add7

@ “multiply by 5”7
D)

D) “muldply by 10"

Copying is prok . Copying’s proty

@ 3 times an odd number equals an odd number:
. The rule for the series 3, 6,9, 12.. ... Is “multiply wv\ 3”
©® 3.6,9, 2nd 12 are multiples of 3.
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IDENTIEY PATTERNS rm 301

WORK SPALE . " Write the equation in the box that each multiplication WORK SPACE
table shows. "
+|1|2/3|4|5|6]7{8(8g]|10
, 1121384567 (8|9|101" X Q1 2y
P 5 ‘slojolo
, = ilof1]2
256! 7 ;.N 0|2}4 .
5(6[7|8|9([10|11]12{13{14]15 8j0,8|%
6|7 |8}¢9|10|11]12]18[14|15]|18 #]0]4]8
78] o|10]11]12{13]14]15]16]47 5i0/5|1
0|6 |12
819 110(11(12113|14|15]16{17 {18 5 3 O ]
Sl 5 w% 56
9 [10|11{12(13|14]15{ 16| 17| 18|19 L % Bz
8 |16(24 (32 (40|48 56|64
10111 (12113114115, 16| 17! 181920
P7T X8 =42
Write a number in each box to correctly complete the <o
chart. v.
0|0
110
210
30
& 3 8 410
5|0
6 3 8
it
5
X k) 3 12 710
10 3 3 8|08 [1]24]a240]a8]56]64
P B X7 =42 i s s
Part B
Explain what the equations in Part A tell you. TIPS AND TRICKS
-~ N ) n this guesticn. yau are writing
Sample angwer: The products are sgual. This means your answer on fines. In questions
that factors can be multiplied in anv order and the ke these, there can be more than
A T R one correct answer. :
product will not change.
[102] masteryeducation.com | Mathematics | Level C Copsings prohiioad. Copyng s pr Chapter 2§ Mumber and Operations | masteryeducation.com | 103 ]
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Now that you have mastered finding patterns in tables, let’s solve the problem in the
Real-World Connection.

Oliver receives $5 each week for finishing his chores. He saves his money for 3 weeks.
How can he use a multiplication table to find the amount of money he saved?

Identify the factors and solve the problem. How much money has Oliver saved?

Thefactorsare Sand 3. The table shows 5 X 3 = 15or3 x5 = 15
Oliver has saved $15.

'\

[ 1047 masteryeducation.com } Mathematics | level C
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Answer the questions.

1. Which number will round to 400 when rounded to the nearest hundred?
491
345
455

Write the number that correctly completes the statement.

Write the numberthat correctly completes the subtraction equation.

— 723 =194

What is 538 rounded to.the nearest ten?
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9. Part A

Write the equation that each multiplication table shows.

Solve the two-step word problem.

There are three third-grade classes, and each has 22 students. Eight third graders
are absent today. How many third graders are in school today?

=
Bk

"Write out your equation and solve it. 1ol 019(0j0]0]0

R T : o+ o(1|2(3(4]|s

.wxmwlmnx 512 ol se s |0

88 -8=x 03 o(3|6|9 (12|15

58 = x ol 4 0]4)8i12|16|20

0|5 0|5 [10]15|20}25

io0ls 106 [12{18|24(30

Part B o7 0|7 |14]21]28 35
Explain how you can use estimation to check your answer. Tols 018 16|24 |32 | 40|48
Sample answer: | can use estimation by rounding 22 down to 20 and 0lo 0|9.|18!27|36(45(54

rounding 8 up to 10, The equation is 20 X 3 — 10, or x = 50. This is close , ST mmmm—— e
o the answer of 58, so the answer is reasonabile. :

Part B
Explain what the equations in Part A tell you.

7. Whatis 93 + 48

Sample answer The producis are equal. This means that faciors can be

@ 45 .
muitiphied In any order and the product will not changs.

® 131 ol
© 13 S | s
© 141 e

10. Which number correctly completes the addition equation?

8. Jenny was doing 2 science project on the water cycle. She started off with

16 bottles of water and then used 7 of them. She then bought 9 more bottles. 866 +125 =[]
How many bottles of water did she have left? Write the numbers in the boxes . ' @ 741 *
to complete the equation. g ' I @ 781
i os f= s - 1T T - © s81
.......... 3 B 991

H

Shehad{ 18 | botles left

Wod‘uonednpakialsew | suopetad) pue Jequiny | 7 Jeadeyn
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14.Which is the rule for the series?
6,12,18,24,30 ...
@ “adde”
B “add®”
© “multiply by 2"
@ “multiply by 67

12.Select THREE numbers that round to 800 when rounded to
the nearest hundred.

735
805
761
825

13.What can you tefl from the series 8, 16, 24, 32, 40 . . .2 Complete the statement.

14.Look at equations A, B, and C.
ASX3—-5=x B:2+5X3=x C3+12~-1=x

Compare the values of xin each equation in the boxes.
Write a letter in ‘each box.

15, Look at the muit

15|18 24

_mo_mi.m»_ﬁ

25|30 35|40

B 42] 48

35| 42| 49 58| 63

40l 48{ 56 64| 72

45] 54| 63| 72} 81

50| 60| 70 80| soj1o0].
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B TURN AND TALK
How can you write 2 fraction for
the unshaded part of the reciangle!

P TURN AND TALK

Who has the shortest pieces
of ribbon?

41271 masteryeducation.com | Mathematics | Level C

GUIDED INSTRUCTION

A wall is going to be painted in stripes. Fractions can be used to say
how much of the wall has been painted.

4. Write the fraction that stands for the shaded part of
the rectangle.

Stepfone How many equal parts is the rectangle divided into?

This Is the denorminator.
The rectangle is divided into 3 equal parts. The denominator
is 3.

How many parts are shaded? This is the numerator.

One part is shaded. The numeratar is 1.

Sted Write the fracdon. The denominator is on the
bottom and the numerator is on the wp.
The fraction W stands for the shaded part of the rectangle.

2. Three friends have ribbons that are the same fength.
Jon cut his ribbon into sixths.
Gabe cut his ribbon into eighths.
Melissa cut her ribbon into fourths.

Whose pieces of ribbon are the longest?

& Draw the cuts to represent Jon's ribbon. Each plece

i

is w of the whole.

Cogying is prok

Draw the cuts on your own to represent Gabe’s

ribbon. Each piece is w of the whole.

ribbon. Each piece i

M
#

3

2. Select TWO models that show g shaded. & HINT, HINT

r each shape is

Make sure
ed equally
parts to find the bottom
er of the fraction, knowrn

nto parts. Count

num
as the derominaion
the shaded parts 1o
aumber of the fraction, known as

the numeraton
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s wall tothelp \0c$ tea fraction.

: Lesson 11

‘Draw g sketch of your classroon.,

Cdlor in the _w.wm.z.” signal
* that shows how you are ;
‘doing with the skill.

[114] . Ewmmmnwmmcnmmo?no.& 1

.,.4u<<7m.n questions.do you have?

N

- Look at one wall of your classroom. Write a fraction that

stands for the amount of the classroom wall that is coverad by

the board or the windows. What fraction of the classroom

wall is not covered?

How can you use a fraction to determine how much of

pencil has been used?

s

Mathematics | Level C

©UNDERSTAND FRACTIONS

INDEPENDENT PRACTICE

1. Which fraction describes the shaded part of the circle?

® 2
® ¢
© %
©

2. What fraction of the triangle is shaded?

VWrite your answer in the box.

3. Write the number in the box that correctly completes the
statement.

Copying is prol

Chapter 3 | Fractions

Chapter 3 | Fractions | masteryeducationcom [ 115 ]

i masteryeducation.com I 113] 5.

Lesson 1l

G HINT, HINT

The numeraror {u
the number of shaded parts.

aumber} is

W

€ HINT, HINT
The denominator of a fraction is
the total number of equal parts of
the whole.

[s2]
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Lesson 11 - * - UNDERSTAND FRACTIONS

WORK SPACE

‘ke;;iﬁz.«.;eé\za.;sri

11161 masteryeducation.com | Mathematics | tevel C

4. Each model shown has been shaded to represent a fraction.
Which model shows w shaded?

box.

H

6. Part A
Marco orders a large pizza. He eats m. of the pizza.
Ali orders a small pizza. She eats w of the pizza.
Who ate more pizza?

Write your answer in the box.

Part B

Explain how you found your answer.

Sample answer: When a large pizza is divided info

fourths. the pleces are bigger than when a small
pizza is divided into fourths. 8o, w of a large pizze is

more than 5 of a small pizza.

7. Part A

A bulletin board is split into 3 sections. The shaded area
shows the part of the bulletin board that is filled.

Jamnes says that w of the bulletin board is filled. Cara says that
James is not correct. Explain who is correct.

Cara is comect. Sample explanation: The bulle
board is not divided into squal paris so gach pat
does not show ong-third, - )

3

58

Copying i§ pr

Chapter 371 ‘Fractions

G SKETCHIT

Drawing a picture or model can
help you soive a problam.

WORK SPACE

Bmwmmﬂvmmuﬁﬁ_Ow.nm.i 7] .
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 Lesson 11 . UNDERSTAND FRACTIONS

«om rm<m BmmﬁmBa _.mnomn.u:m m:a BOQm_:._m wan\n_o:m ﬁmﬁm o_<m ﬁvm v_.o_u
in the Real '<<01a ﬁo::mncoa e Lo
&.m<< a mncﬂ e on nrm wm<m3m:n to Em« a game. She divided m_,.m mﬂcmﬂm into 4 equal

.  parts! b: <<_= stand on onm part. O: what fraction of- ﬁwm square wilt Jill stand? On what
e ﬁ..mnn.o: of nrm square will the otheriplayers:stand?.

: UBS a v_nn,:vm,ﬁo solve the problem

Sample mmméww

««m mrmmm in 1 ofthe mgcm«m The other plavers will

mwmza ing S of the wgcm«m

“

i,

FINE

[ 1187 masteryeducation.com | Mathemarics | Level C Copping is profibizsd.
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3.

P TURN AND TALK

How many equal sections are there
between 0 and 17 What happens tc
the numerator of the fractions after
you pass the 2

AMANNM masteryeducation.com | Mathematics | Level C

Lesson 12 -7 SHOW FRACTIONS ONA NUMBER LINE"

Divide the number line to show the point w.

-~
0 1

The denominator of W is 8. Divide the line into 8 equal parts.

The :cgmﬂmo_» is 1. Place a mark at the end of the first part.
Now write g below the point.

T

0

o= -
-

Which fractions are marked on the number line? Select
WO correct answers.
1 1 &
1l T hd )

0 1 2

L 2

f O 6
ol AT WiIN AN ool

@

' Is prohibized.

Chapter 3 | Fractions | masteryeducation.com | 121 ]

e

How Am | Doing?

What questions do you have?

ith a partner o answer
wing: Isaac represented a

fraction on a number fine. What
must be true sbout the numerator
of the fraction comipared to the

Explain how you can identify the correct number of equal

parts along the number line.

Color in the traffic signal
that shows how you are b
doing with the skill.

What happens to the numerator of the fraction after you

pass the number 1?2

Chapter 3 | Fractions | masteryeducation.com | 123 ]
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WORIK SPACE

INDEPENDENT PRACTICE

Answer the questions.

1. Which describes how to show W on the number line?

@ Divide the distance from 0 to 1 into 2 equal sections.
Place a mark at the end of the 8th section.

Divide the distance from 0 to 1 into 8 equal sections.
Place a mark at the end of the 2nd section.

@

©

Divide the distance from 0 to 8 into 8 equal sections.
Place a mark at the end of the 2nd section.

&)

Divide the distance from 0 to 2 into 8 equal sections.
Place a mark at the end of the 2nd section.

2. Whar fraction does the number line show? Write your
answers in the boxes.

3. Label the fractions on the number line. Write your answers
in the boxes.

[124] masteryeducation.com | Mathematics | Level C . Copying is profibized,

4. Select TVWO statements that are true about the
number line. 4 HINT, HINT
A B c D The m_.c":)mvmﬂ tine is divided into
<t ¢ ! » & } ! ¢ : egual parts. How many parts
0 1 do you have to count for each
fraction?
O Point A shows W.
@ Point B shows w.
2 s 4
@ Point C shows &
{©) Point D shows w
5. Complere the table to show the position of each fraction
from left to right on a number line in order from 1-3.
3
g 1
7 2
8 3
[
a 2
6. Rob folds a fraction strip.
M > :
0 j 1
What fraction should he write at the fold?
Write the numbers in the boxes. R
1 ,
2
Copying is prohibited - Chapter 3 | Fractions | masteryeducation.com {1257 .
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SHOW FRACTIONS ON ANUMBER LINE - -

U_,m<< lines to divide the 3c3vm1 ine into mncww parts. Then
sza and wvmw the fraction M .

[ : . 4

Part B

i Explain how you know your number fine is correct.

Sample answer: The denominatos

4. 80 | divided

the segmentinio 4 equal parts. The mm%m«mmow is 2,

o mcgw,ma 2 parts from O-to shoy w2 T

" Emily says the :szQ, fine shows 4 T wmnmcmm nsm point is at
the end of the first part. Is Emily correct? Explain why or
why not.

ig

' Sample answer: Emily is not correct because the

segmentfrom 8o 1 is not partitioned into equal

parts. Each segment does not show w

.
i

LY 5 Wt ST At g

[126] masteryeducation.com | Mathematics | Level C Cop

g is prohibited,

SHOW FRACTIONS ON A MUMBER LINE

Now that you have mastered how to represent fractions on a number ling, let’s solve
the problem in the Real-World Connection.

‘Maddie's house is on the same street as her school. The street is | mile long. It is
divided into equal-sized blocks. How far.is Maddie's rOCmm from her school? Explain how
you know. :

Maddie’s Maddie’s
house - school

There gre & m s mmog Maddie's house fo the school Each ﬁm_., is an eighth

of 2 mile. There are 5 one-eighth parts 80§ the distance from Maddie’s
house fo the %oom m«mmm

A\ , J

Capying is prehibiced,

Chapter 3 | Fractions | masteryeducation.com [ 127 ]
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B TURN AND TALK

Think ebout fractions that are

ecuivalent 1o whole numbers, How
does the numerator {top number}

compare 1o the denominazor
{bottom number}

[1307 masteryeducation.com |

The number line is divided into thirds and sixths.

. o 2
W names the same point as W. The fractions 3 and £

are equivalent.

1

0 &6
|
T

0

3
6
!
T

- ol

o

LU i)
W[N - o &
w|w - olo

[ESIEE
o

You can write whole numbers as fractions and find fractions
equivalent to whole numbers.

Look at the models. Both models show 2 wholes.
In the first model, each whole is divided into 3 equal parts.

In the second model, each whole is divided into 6 equal parts.

=32
2= 6
[ 12 8 12 .
3 and ¢~ both equal 2 wholes. 5 and 7 are equivalent
fractions.

Cutting a pizza into different numbers of sfices shows
equivalent fractions for the same whole.

1=2_4_8
27478
Mathematics m fevel C T Copying is prohibited.

. ﬁ.ov&:w is prohitited,

GUIDED INSTRUCTION

1. jonah runs ,m. mile. Use the number line to find a fraction
equivalent to &
q 8"

12 3 4 5 68 7 8

0O 8 8 8 8 8 8 8 8
-ttt

0 1 2 3 4

4 4 P )

Locate m on the number line.

1~ co|ed
- o]
- o)~

]
f
o]

ENERE /1]
[0 - 00| &
L e [

T
3
4

- o]~

B - oo

€4 HINT, HINT

Fractions that name the same point

are equivalent.

N

Chaptér 3 | Fractions | masteryeducation.com | 131]
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Wwod

ww TURN AND TALK

With the help-of a partner, answer |
this question: Efiana believes that =

4

and g are equivalent fractions. How

can

she prove this?

Color in the traffic signal
that shows how you are

doing with the s

masteryeducation

com’

i

3. Select TWO fractions that E..w equivalent.

12 3 4 5 6 7 8

0 88 8 8 8 8 8 8

i 1 I 1] ] 1 ! 1 ]

T T H 1l T T T T I

0 1.2 3 4

3 1 p p:
o 12
@ zandg
./ 5 3
® gand:
s
© fandz
8 4
48y muwzawu.

How Am I Doing?

What questions do you have?

Think about times when you shared an item with friends. How

a whole number help you

can finding fractions equivalent to

share something with friends?

Have you ever measured out ingredients for a recipe? How

can equivalent fractions help you when cooking or baking?

e " e Py,

s N

Mathematics™ | Level C. Copying is prohibi

INDEPENDENT PRACTICE

Answer the questions.

€ HINT, HINT
How many thirds do you see?
Count them carei

1. What fraction is equivalent to 37

White your answer in the box.

WORK SPACE

2. Select the TWO fractions that are equivalent. ) |

12 3 4 5 6
0  ® % ® 6 ®©
—— t t } -+ t
0 1 2 3 i g
3 3 3
@ Wm:aw
1. .3 :
@ Nmsnww.
gy 2.4 .
© fandg ﬂ
@ .Wmaaw !

3. Write the numbers in the box to make equivalent fractions.

D 55 2 S e P

Copying i€ probiblced, Chapter 3 | Fractions | masteryeducationcom [ 133 ]
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Ron made a pizza. There is m of the pizza left. Which fraction
is equivalent to ww

®
©

Now that you have mastered finding equivalent fractions, let’s solve the problem in the

Real-World Connection.

@)
ENISR
o Wit

Ben and Oliie each have burritos that are the same size. Ben cuts his burrito into fourths
and eats two pieces. Ollie cuts Em,vnuuﬁo into sixths. Ollie eats the same fraction of

Lo Part B

R 4

Explain why your answer is equal to 3

1

burrito as Ben. How can you use &q ivalent fractions to find how many pieces of his

B SKETCH T burrito Otllie eats? Draw a picture to. help you.

&

Sample answer! The fraction 3z means one who

P he margin below, draw a model

- o numbes fine to heip you. Make is divided into © squal paris and 4 of the paris are
counted. if you divide the whole inio 3 paris, 2 of the

parts would take u

< . A : .
Sample answer: Ben eats W.Q« nis burrito, 1 know that 7 and .w. are equivalent

sure your mode! shows equal

3

hecause in the models. the total shaded areas afe the sams size.

p the same pari of the whol

®

SJILIEIT YAy

|

57 What is another fraction equal to 12 Use the model to justify
your answer.

Sample answer

; | .m parts, and all 8 parls
are shaded. One whole is

e

shaded.

e~

3 [oAe]

“Part A
Skylar has & sandwiches. She cuts each sandwich in haif.
What fraction represents all of the sandwich halves?

Part B

Suppose Skylar cuts each sandwich half into 2 equal parts.
What fraction represents all of the sandwich parts now?”
Explain your answer.

Sam

ie answer: Cutling the hatves in makes

half
rins. There were12 naives. Now there afé 24
24

fourths. The fraction 57 names the sandwich paris.

fou

L1341 masteryeducation.com | Mathemztics | Level C Copying s p

i st duikdoD
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B HINT, HINT.

\When using 2 :nauu..m...ﬂim o
comparé, the number to the lefi is
Jess and the number w.the right is
ﬂxmmnmﬂ, , L '

bt

P TURN AND TALK

Write a fraction that has 2
numerator of 6 and a denominater
of any number you want. Compare
your fraction to your partner's and
decide which is greater.

[138] _.mm.manmmcnmaoPnoB i
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You can compare fractions with the same numerator.

- When the numerators are the same, jook at the denominators
to compare the size of the parts. The fraction with the smaller
denominator is the greater number.

Mr. Richardson needs w of a cup of cocoa and .w of a cup
of butter to make brownies. Does he need more cocoa or
more butter?

2 2
OOvaﬁm Fand 5. ,
Look at the model. Each whole is the same size.

One whole is divided into 3 equal parts, and the other is
divided into 5 equal parts.

The more parts the whole is divided into, the smaller each
partis. .

The fewer parts a whole is divided into, the larger each part is.
The m«mmnm_.. fraction has the larger amount of the whole

shaded.

. 2
w is greater than <. S

il

2
0,5 >

i

.@Q@mw INSTRUCTION

- . . . 2
1. Annie and Erin each have the same size paper. Annie calors §

of her paper blue. Erin colors w of her paper blue. ¥Which

girl’s paper has more blue?
The denominators are the same, so you can compare the

numerators of the fractions.

Steni0ne Look at the numerators.in each fraction.

p—

2. Carla and Willa each have apples that are the same size.

Carla eats m of her apple. Willa eats m of her apple. Who
eats more of her apple?

The numerators are the same, so you can compare the
denominators of the fractions.

Stepne Look at the denominators in each fraction.

0%

Gpilwo  Compare the denominators. The more parts the

Lesson 14

Chapter 3 | Fractions

G SKETCHIT

n the marg , draw a modet

oranumber kine to cornpare
the fracgions. Show what your
model would look fike for each
comparisen.

masteryeducation.com | 139 ]
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How Am | Doing?

b SKETCHIT

lesse divides a pizza into slices.

! Draw rnodels in the margin
below to expl

Color in the traffic signal
that shows how you are
doing with the skili.

[ 1407 masteryeducation.com

‘What questions do you have?

When is a time when you might need to compare fractions?

Carpenters use fractions when measuring and cutting pieces

of wood. Why do you think it would be Important for the :

carpenter to know how to compare fractions? For example,

what would happen if a piece of wood is greater than or less

than a given length?

3
oty fmaxwuo g

| Mathematics | Leval C - . Copying is prohil

INDEPENDENT PRACTICE

Answer the questions.

1. Compare. Use >, <, or =. Write your answer in the circle.
5 5
S

2. Which comparison is NOT true?

® 1>
® 3<}
© 3~
® 1>

3. Which fraction is NOT greater than ww

® 3
©:
o

4. When two fractions have the same numerator, compare the
denominators. Is the fraction with the greater denominator
greater than, less than, or equal to the fraction with the
tesser denominator? .

Write your answer in the box.
{ lessthan |

Copying is prohibked,

EFRACTIONS

WORK SPACE

Chapter 3 m.mﬁwnaomw | masteryeducation.com [ 141]
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B HINT, HINT

. . fractions.
The greater than or fess than sign ’

always "points” at the number that
Lisless. - ’

. WORKSPACE.

, ; 7 jon says w > .MJ and he made the drawing below to show that
: o he is right. :

What is John’s error? Explain your answer.

, ; Sample answer:
John didn't compare two wholes that are the same

size. To compare fractions. vou have to start with

the same-size whole. When two wholes that are the

same size are divided into halves and fourths,

one half is greater than one fourth,

A e
-

oL Ay

[142] masteryeducation.com. | Mathematics | tevel C

¥ Part A
Write a possible numerator in the box so that the
comparison is true.

w > e Sample answers: 0, 1,2

Part B

Draw a picture to justify your answer.

Saimple answer.

i Part C
Explain your thinking.

When the denominators are the same, L means

G SKETCHIT

=4
o
9
&
2

w, draw a picture

to show the two fractions. Use

that the wholes are divided into the same number

of parts. More paris means g greater fraction of the

: 1
whole. So, m is greater than 5.

Capying is p

Chapter 3 | Fractions | masteryeducation.com [143]
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Now that you have mastered comparing fractions, let’s solve the problem in the

Real-World Connection.

Dean and Kelly both fike to hike. They hike w
wmqam more. Did Dean and Kelly hike a greater
they rested? Draw 2 picture to help you.

raile and stop for a rest. Then, they hike
distance before they rested or after

Dean and Keil

sampie model:

\

11441 masteryeducation.com | Mathematics tevel C
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B HINT, HINT
Equal parts do not have o be the
same shape, but they must have the
same area.

oud st Suiddon

Y

[ 1487 masteryeducation.com | Mathematics i Level C

GUIDED INSTRUCTION

When you share food, you often want to have equal-size parts.
This pizza is divided into fourths.

4. Partition the rectangle into 4 parts with equal areas.

% First draw a line to make 2 equal parts.

B Divide each half into 2 equal parts to make
4 equal parts.

—

Copyieg is pro!

. V¥rite the fraction that names the area of each part of
the whole.

1

¥ Count the number of equal-sized parts.

There are 6 equal-size parts.

| Write the fraction that names each part.

Each part is one sixth of the area of the whole rectangle.

One sixth = .“.

3. Select THREE shapes that show eighths.

®

®

@
@

. Copying is prot

- mmmvﬁww 3 mﬁmnmomw

SHOW ERACTIONS OF SHAPES

4 THINK ABOUTIT
The word haff ca
tion ke 1.

ather fraction words fike half!

be written as

Lare some

4 HINT, HINT
The word eighths has the word
eight in it Look for shapes with
eight equal parts.

masteryeducation.com . [ 149]
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* SHOW FRACTIONS OF SHAPES

V mﬁm.m.ﬂI iT

Ona separate piece of paper |
draw three identical m:mum.m H
lines to divide the first shape into
halves, the second shape into
* thirds, 2nd the
" fourths. Shade 1 parz o_‘mwn:
shape and write a fraction for the

shape. Then compare tha shaded

parts of the shapes. What do
you notice about the size of the.
shaded parts compared to the |
denominators of the ?mnco 7

raw’

Color.in the traffic signal
that shows how you are
doing with the sldill.-

[150] Bm,wnmwwmucnwaon.no& | Mathematics

—— _. _._mos.»,a.mmos%

What questions do you have?

Describe two different ways to divide a rectangle into

¢ mn_cm_ parts.

Describe a time when you or someone in your family wanted

something divided into mn_w_m_ parts. -

INDEPENDENT PRACTICE

Answer the guestions.

areas.

®

©

®

Which number correctly completes the statement?

The circle has [ ] equal parts.

® s

©O0®

6
4
2

Draw lines to separate the shape into four equal parts

Copying is prohibied.

e B B 47 ]

SHOW FRACTIONIS OF SHAPES -+ Lesson ]

1. Select TWO shapes that are divided into parts with equal

kd

{SKETCH IT
Mark each part as you count
around the dircle. Say one number

for each part.

Fractions | masteryeducation.com [ 151 ]
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4. Draw lines to separate the shape into three equal parts.

WORK SPACE

5. Which fraction names the area of each part of the whote?

) O ® @

-
\»)
Wik B Wl ]

6, Part A
Clyde says he shaded .um of the shape.

What mistake did Clyde make?

Sample answer: Clvde’s shape is not partitioned

into equal parls, so the part he shaded is not w of

the whole.

i -
" st PO 8 g

[1521] .meanmmcmwﬁo?noB | Mathematics | LevelC

o I

Copying is probi

Part B

Draw a shape and shade w of it.

Part C

Explain your drawing.

Sample answer: | drew a square and divided it into

4 squal parts. The area of sach part is N of the

whole, 8¢ | shaded one part.

The rectangle is divided into fourths. Explain why this is true.

Sample answer The rectangle was divided inio
eqgual parts. Then sach half was divided info 2 egual

paris, making 4 equal pars. Each part has the

same area,

Chapter 3 | Fractions

| masteryeducation.com [153]
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Now that you have mastered dividing shapes ..,Smo.,mn:&..m.ﬁm parts, let’s solve the
problem in the Real-World Connection. e

Pat uses the same loaf of bread to make 3 mw:ai_ormm. Pat wants to cut each mm:ai_nv
into 4 equal parts.

How can Pat cut each mm:%sﬁ: in differ entiways
Explain your answer and show ‘¢h ee different

to nrm same number- of equal parts?
Pat ‘can’cut the bread.

Sampie mnwévﬁ Mm the bread is square. here are 3 ways to divt mm the

sandwiches, Wmay sandwich is divided &8 fourths. The wuaw of gach

sandwich 3m<m ‘the same area and are 3 £ of the sandwich, but i they have

different shapes.

ENES

.l.>‘,.x

[ ro1

\,

[ 1547 masteryeducation.com | Mathematics | Level C .
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B o Answer the questions.

4. Whar fraction of the circle that is shaded? Write your answer in each box.

2. FEach model shown has been shaded to represent 2 fraction. Which model shows w

shaded? :

A lawn is divided into 8 segments. The shaded area
shows the part of the fawn that has been mowed.

Daniel says that w of the lawn has been mowed.
Maureen says that less has been mowed, while
Kendrick says that more has been mowed.

Which person is correct? VWrite the name in the box.

Mauresn |

[ €01 ] woouoneonpakissew | suomoriy | ¢ seadeyn




Chapter3  PRACTICETEST

4

Part B

Complete the table to show the position of each fraction from left to right on a
Explain why the person you chose is correct.

number line in order from 1-3.

Py
—
Lo
B
Ld
3
)
171
ot
¢}
S
<
o
o
o
0
=

Sample answer: Less than m of the lawn has been mowed. | can fell

0 . .
S because the segments are not equal in size, and ons of the segments that 4
- - i 8
m has not been mowed is larger than the others. 5
3 g
—— 1
5 8
EN Which letter on the number line shows §?
[ ;
%1 A B C D E Cassie colors W of her paper in art class. Use the number line to find a fraction
i 1 1 1 1 1 [,
W o Ty equivalent to 3.
o,

1 2
Write the correct letter in the box. 5 B
] ]
T T

Write your answer in the box.

N pAd | s

. { 3 .
Cassie colors} s of her paper in art class.
: H

There are 12 people eating dinner. Each person wants “_u. of a pizza. How many

pizzas are needed? Draw a picture to show how many pizzas are needed. Then explain
your answer. ,

6. Draw lines to divide the number line into equal parts. Then mark and label
ﬁrmw,.mnmon w

1z
3

Sampie answer: Four pizzas are needed because

{ drew fraction modsls o solve.
{ needed % which made 4 wholes, so

12
3

=4,

Buiddony
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11, Select TWO of the fractions that are less than +

O 0 @ ®

Ut Bl b W b

@

12. Whrite m,\n.&ow in the boxes to compare the fractions.

13, Which comparison is true!

v

@ @
PN PESEN N NN
[(S B o«:‘-u W

v

A

©
cal-

44 What fraction names the area of each part of the whole?

Sample answer:

{ drew = Sriangle and parfitioned # into 2 equal parts. The area of each

part Wm,w oﬁym%ﬁomm,mowmwmmmaommvmn.

16, Which fraction names the area of each part of the whole?

@

) © @
Bl WU Wl B

©
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B TIPS AND TRICKS
instead of skip-cousting by fives,

lication. From

you can use mu
the 7 o the 11, there are 4 groups

of Sm
0+

tesso4 X 5 =20, and

t extra minute = 21,

P HINT, HINT
How many minutes is i
next hour?

past the hour?

®
®
©

@ @

41 minutes after 5
19 minutes before 4
5:41

19 minutes before 6
6:41 _

41 minutes after 4

[164] masteryeducation.com | Mathematics | Level C

3

How Am | Doing?

What questions do you have?

Can you tell what time it is right now on the analog clock

in your classroom? If you only have 2 digital clock in your

classroom, draw the time it is right now on an analog

C G SKETCHIT

the time is between 2 and

3 o'clock, then the hour hand

clock below.

should be between the 2 and
3 on tha clock.

Time is important in our lives.

You need to know what time

o get to your Soccer game, so you need to think about

what time to start getting your uniform on. What are other

situations where knowing the exact time in hours and minutes

is important?

Cupying is pe

sed

Color in the traffic signal
that shows how you are
doing with the skill.
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3. Eli started practicing guitar at 10:20. He stopped practicing

WIORK SPACE . : Mzwmwmzwmzq Muw\mwmﬂwﬁm - at 10:52. How long did Eli practice guitar? WORK SPACE :
r\@ 20 minutes - . FrE ,

Answer the questions.

\/ .
B 27 minutes

@ 32 minutes
@ 37 minutes ) .

1. What time does the clock show?

4, Select TWO times that match the time shown on the clock. i

thirty-two minutes before one

2. Yasmin finished dinner at £:28. Which clock shows the time .
she finished dinner?

one twenty-three
pwenty-eight minutes before two

thirty-two minutes after two -

®OOO O

one thirty-two

{F) twenty-eight minutes after two
y-€ig!

5. Carlos starts running at 10:45. He finishes running at 11:08.
How long does Carlos run?

" Vrite your answer in the box.

uoneonpakioisew | eseq pue Jupwpinseal | ¥ 4eadeyD

p—"

Chapter 4 | Measurement and Data | masteryeducation.com Méw.\.w
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[ 1687 masteryeducation

" m \What is one time when the hour hand and the minute hand

Mathematics | Level C Cosying is proh

both point to the same number? Explain your answer.

Sample answen 12:00

rainute hand both point o the 12.

Part A

When Ben ate a snack, the hour hand was between the 2 and
the 3.

The minute hand was on the 10.
What time did Ben eat 2 snack?

Write your answer in the box.

Part B
Mai ate a snack 12 minutes afrer Ben. When did Mai eat a2
<snacl? Explain your answer. )

Mai ate a snack at 3:02.
Sample answer: | counted 1 ten and 2 ones from

\

Now that you have mastered reading and writing time to the minute, let’s solve the

probiem in the Real-World Connection.

she leaves.

At what time a.omm Mary.leave for schoo

Mary leaves forschooi at 7:18.

Mary leaves for school at the same time each 303.9@ The clock shows the time

12 Explain your answer.

The hour hand is pol inting just after the 7, so the time onthe ¢ ock is after 7.

Counting by fives, and then one more

the hour: 5, 10, 15, 16.

The time is 7:18, or seven sixteen.

, the minuie hand is 18 Bﬁcwmw after

»

Copying s profibized. Chaprer 4 |

-Measurefnent and Data | v_.,n.umm,QOacnwno?mu?, [169]
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B HINT, HINT
If an event lasts past the hour it
helps to count the time up
hour and then after the hour.

peonpeAJelsewl | weq pue juawsansealy | i Jedeud

uo

.

Recess starts at 10:15 AM. and ends at 10:35 a.m. How long
does recess last?

Subtract the times:
10:35 end time
— 10:15 start time
0:20

Recess is 20 minutes long.

GUIDED INSTRUCTION

Sometimes you start doing something because you are waiting
to do something else at a certain dme. Maybe you start reading
because soccer practice is in half an hour.

4. Abe starts reading at 11:40 am. He stopped wm.wnmzm
27 minutes later.

At what time did Abe stop reading?

o . .
% Jse a number line to represent the problem.

Write 11:40 as the starting time.
Count on to reach 27 minutes.

10 + 10 + 5 + 1+1

T YN

!
-«

11:40

Machematics | Level C

7 \Write the times of each jump on the number line.

The end of the last jump is the time Abe stopped reading.

1 4 10+ 5+ 1+
1
- ; >
11:40 11:50 12:00 12:06 + 12:07
. 12:06

gkl . . .
heee Solve the problem, making sure to include AM. or
your answer.

Seer

PM.

Abe stopped reading at 12:07 M.

2. Cody rode the bus t0 his grandmother’s house. Cody got on

the bus at 1:36 p.m. He got off the bus at 1:49 r.m. How long
was Cody’s bus ridel

£re) a8 Use subtraction 1o find the difference.

1:49 end time
— 1:36 start time

0-13 amount of time on the bus

Step Solve the problem.

Cody’s bus ride was! 45 iminuteslong

1

3. The table shows the start and end times of two events at

the zoo.
What times complete the tablel

Write your answers in the boxes.

Lion feeding : . 17 minutes

| Gorilla

viewing

25 minutes

1 is prebibied, Chapter 4 | Measurement and Data

[EH] wood

4 TURN AND TALK

4 TiPS AND TRICKS

Decide if you should add or
subtract to find the answers. Then
the missing information.
Remember to include aM. or .M.
in your answer if your answer

| aumﬁQOn_cnmao?ne.B M\_wwu
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B TURN AND TALK

Work

ith a parmer. Pick twe

es you do on a schoo day
such as gatting dressed or going
7o school. Think about how much
y tales. Write

twa time probiems about your
activities where start tme, end
:

me, 0
be caiculated, Then solve the
problems.

Color in the traffic signal
that shows how you are
doing with the skill

How Am | Doing?

What questions do you have!

Determine how much time goes by between the start of your

school day and your first recess. Explain.

How long does it take to get home from school? How long is

Junch? What are some other situations where you figure out

how long something takes?

PP 53355%51. 5

Copying is pr

INDEPENDENT PRACTICE

Answer the guestions.

1. Gus started walking to school at 7:28 am. He arrived at
school 15 minutes later. When did Gus arrive at school?

@ 713 am
® 743am
© 745 am.
O 748am

2. jamal is going to meet his family at the hiking trail at
12:00 p.m. jamal arrives 20 minutes early. Yhen does Jamal
arrive at the hiking trail?

Use AM. or B.M. Write your answer in the box.

s
e
£
[
s
&

3. The table shows the starting and ending times of some
movies. Select THREE movies that are longer than 20
minutes.

€ TIPS AND TRICKS

You know from the question that
three of the answers are Corract.
Read each row of the table. Find

Bees Buzz " 10:05 AM. 10017 AM. MMMWMMMMMMHHQWMMmﬂ
Whale Songs 10:35 am. 10:57 aM. choices that name movies with
When Birds Fly 1115 Am. 1141 Am. fengths greeter than 20

| Total Tornadoes 12:40 o, 12:55 .
3, 2, 1, Liftoff! 110 M. 1:30 pM.
Our Green Earth 225 pM. 3:00 p.M.

A® Bees Buzz . @ Whale Songs

@ Total Tornadoes
@ Our Green Earth

@. When Birds Fly
B 3.2 1 Liftoff!

Capying is p

H
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1

4, juan went into the grocery swore at 927 AM. He left the
grocery store at 10:06 Am. How long was Juan in the storel

You can use the number line to help u\Om solve the problem.
10 + 10 + 10+ 1+1+1+5+1

T YN

-~

g:27

@ 29 minutes
B 35 minutes
@ 37 minutes

: @ 39 minutes

5. Kyra got home from her dance lesson at 6:35 pM. It Took her
30 minutes to eat dinner; and 10 minutes to take a bath. Then
it took her 7 minutes to clean up her rgom and get ready to
go to bed.

‘What time will Kyra be ready to go to bed? You can use the
clock to help you.

@ 715PM.
& 722PM.
© 752PM.
O 815PM.

Mathematics | tevel C

7 Part A

Sam

Steven started wo
working at 1:59 M.
worked in his garden?

e answen
the start time and the end fime.

How can you figure out how long Steven

i need 1o find the difference hetween

riing in his garden at 1:17 ra1. He finished WORK SPACE

Wi,

- mumm,mw

Samgple answer.

Draw a number line to represent how long Steven worked
in the garden. Solve the problem. Explain your answer.

& number line o count from she start ime to the

ond tme. | drew fumps of tens and ones. 1 wrote the

is prohibiced.

Chapter 4 | Measurement and Data |

masteryeducation.com {177 1
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WORK SPACE

O ST ot STt

~ [1787 masteryeducation.com |

“7 " Sandy woke up 15 minutes before midnight. She had a cup of
hot chocolate and went back to sleep 30 minutes later. What
time did Sandy wake up? What time did she go back to sleep?
Use aM. or pM. for each time. Explain your answer.

Sample answer: Sandy woke up st 1145 pu. and

went back to slesp ot 12:15 am. Midnight is 12:.00.

Fifteen minutes before the hour is the same as

45 minuies after the previous hour. [ counton

30 minutes from 11:45. 11:45 plus 15 minuies is

midnight, or 12:00. 12:00 pius 15 minutes is 12:15.

The fimes after noon and before midnight are wrilten

with e.v. The times after midnight and befors noon are

writfen with am. So, Sandy woke up at 11:45 pat and

went back fo sisep af 12015 am.

Mathematics | Level C

Cowying is prol

Now that you have mastered solving addition and subtraction problems with time, let’s
solve the problem in the Real-World Connection.

Andy got home from school at 3:35 M. It took him 10 minutes to eat a snack and
5 minutes to change clothes. Then, it ﬁoox.zi 5;minutes to ride his bike back to
school. At what time did he arrive at'school for running practice?

4:08 pw.

Sample answer: School is out &t 3:38 P S

it takes him 30 minules from when he leaves schoot wo“.@.mmn he getls back
to school: L

10 minutes to snack + 5 minuies o changes + 15 minutes fo-ride back =
30 minutes. 8 :

From 3:35 10'4:00 is 25 minutes, so Andy arrbves 5 minutes after 4:00, or
4:05 p.w.

Capjing s prohivied © .t Chepter 4 | Measurement and-Data
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ME ANDMASS ©

GUIDED INSTRUCTION

4. Which estimated mmass would & safety pin be Eﬂm_w to have:

One liter is very n_OM.m, w0 “_,;. ofa
galion. So. 4 liters of

a |-gallon container

< would fill

[ 1821 masteryeducation

com |

1g10g 100 g or 1 kgl ,

ﬁan.me mmgawﬂ.ogmnﬂm. Remember that a paper.clip has a
rnass of about 1'g and 2 school book has a mass of about 1 kg.

A safety pin is close to the sizeofa paper clip, so its mass is
probabiy close to 1 gram.

2. Which of these containers would most likely have a liquid
volume of about 1 L?

Think about-what might be equal to 1 L.
The eyedropper is too small.

The large container is 100 big.

ﬁo:nm.Sm_,M B

s the best choice.

i

H 5

Kmmyma.wa,nm | Level C

g is prohibized.

3. Bottle B has a volume of 1 liter. What is the best estimate of
" the volume of Bottle A

1 liter, 2 liters, 5 liters, or 10 liters?

Compare Bottle Ao Bottle B.

Bottle A looks larger than Bottle B, but not 5 times as large.

i

So, Bottle A probably holds about} 2 iL.

4. A pencil has a mass of 5 grams. Select the TWO closest
estimates for the mass of a pen.

@ 1g
S5g

®
© 10¢
®

" Chapeer 4 | Measurement and Data

[ 6Ll ] wod'uo

T EASHRE VOLUME AND MASS

< TIPS AND TRICKS

The answers that are closest ©o’

masteryeducation.com
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B TURN AND TALK

Discuss with a partner. Suppose
you have two efnpty containers.
Could it be possible to estmate
which container has the greater
volume only by looking arit?
Explain.

Color in the traffic signal
that shows how you are
doing with the skill.

[ 1847 masteryeducation.com

i

How Am | Doing?

What questions do you havel

Identify some objects in the classroom or at home that

have a mass close to 1 gor 1 kg

What is an example of something that has a mass of about

50 kg? How many grams do you think a potato weighs?

i) Sttt

Pt I gl

Mathematics | Level C Copying i pr

INDEPENDENT PRACTICE

WORK SPACE

Answer the questions.

4. The cup measures liters.

How many liters of water are in the cup?

Write your answer in the box.

2. The image below shows the volume of water ina
measuring cup.

How many liters are in the measuring cup?

®
® 3
© 1
O 2 ) , .

Iy

Copying is pret
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3 A peanut butter sandwich mem with 2 slices of bread has
_amass of 80 mr. Which is the BEST estimaze for the mass of
‘_mznmo*v_,mw% . .

® 10g
B 10k
© 3¢
D 35ke

4. -Select the THREE objects that would MOST LIKELY weigh

10 kg.

@ bag of groceries
@ necklace A
@, chair

@ .<<w»rm,~,3&o:
@ keys

Which would be the BEST estimate of a crayon'’s mass?
® 3¢

® 3¢

@ 3kg

D 30k

‘Mathematics | Level C

Copying is prohiblied.

Hmumoz 18

<€ TIPS AND TRICKS

Coyerghe angwer cholces. Think

@ a peanut
7N .abouta object that has 2 mass
@ a bortle cap of | kilogram. Then uncover the

. answer choices. Which objects are

apen

closest in weight 1o the cbject you

a kitten . thaught of?

WORK SPACE

" A small beach pail holds about 1 liter of water. Which object
holds less than 1 liter?

atea cup . . k.
@ a bathtub

@ a pool - o
@ a water cooler ' C

o

[1871

7 of B 8 el
Copying s probibited, Chapter 4 | Measurement and Data | masteryeducation.com
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8. Part A
P THINK ABOUT IT The scale shows the measure of a rock. What is the mass of
The pointer is betwean which two the rock?
nurabers!
WORK SPACE
130 grams

e

"Part B

The rock is removed from the scale and another object
replaces it. The mass remains the same. The rock was
replaced by either a feather, a ladybug, a banana, or a
fish tank. Which object likely replaced the rock? Explain
your answer.

Sample answer: | would expect the banana to have

N replaced the rock. A bananz might have a mass of

about 125 g. Afaather and ladybug would be very

light and would be about 1 ¢. A fish tank wouid be

very heavy and would be more than 1 kg,

- At 4 i

11887 masteryeducation.com | Mathematics | Leval C ‘ .

MEASURE VOLUME ANDMASS | Lesson

Now that you have mastered estimating with grams, kilograms, and liters, let’s solve the
problem in the Real-World Connection.

Sami said she ate a fruit that had a mass of about 12 grams. An apple has a mass of
about 100 grams. A grape has a mass of about 5;grams. Simon guessed that Sami ate
a blueberry. Jenny guessed that Sanjiate a strawberry. <<ro. is most likely correct?

Compare the mass of the frits Listithe fruits In order from Smallest to largest.
Then, answer the questio R

Sample answer nass of each frult can be comparéd in order of size

and mass: Enm@mw? grape. strawberry, appls,
Sami probably st a strawberry since the frult she ale has'a méss of

12 grams. The fruit had to be larger than a grape and smallerthan

anapple,

er .«

S

Copying is prehibi:
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P THINK ABOUTIT

About how many golf balls do you
think it would take to have a mass
of 1 kg?

B HINT, HINT
There is z toral of 80 g that needs
o be spiit up among 8 marbies.
How could you show that!

[192] masteryeducation.com | Mathematics | tevel C

2. What is the mass of the golf ball? -

The scale measures in grams. -

The pointer is at the number 40.

Bottle A has a volume of 2 liters. Each Bottle B has a volume

" of 1 lizer. What is the volume of alt 3 bottles together?

The combined mass of w marbles is 80 grams. Each marble
has the same mass. Select the expression you can use to find
the mass of each marble.

2

80X 8
80 +8+8+8+8+8+8+8+-8+8+8

@

80+8
80+8

©

Copyieg is prohiited.

How Am | Doing?

What questions do you havel

R S

| TURN AND TALK

Work with a parmer. A marble has
2 mass of 45 grams. Sam has two
raarbles. What is the total mass of
Sam'’s marbies!

How can you add or multiply with grams, kilograms, or liters?

What is an example of a situation where you would need to

add the mass of several objects? Explain.

Color in the traffic signal ¥

that shows how you are
doing with the skill.

£ Tyt At P A Sttt TSI

e N

Chapter 4 | Measurement and Data |

masteryeducation.com {193 ]
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INDEPENDENT PRACTICE

Answer the questions.

1. Each puppy in the licter weighed 2 kilograms at birth.

P TIPS AND TRICKS What was the combined mass of the puppies?

Look for key words in the
problem, such as “combined” and
“gach.” Which operations shouid
you use to solve the problem?

@ 6 kilograms
@ 8 kilograms
@ 12 kilograms
@ 14 kilograms

2. Anna has a watering can that is full of water. She uses

>
P SKETCHIT 5 lirers to water her garden. Then she adds 2 fiters.

Draw a picture in the space below

o help you aiize how many

fiters are in the warering <an.

How many liters are now in the watering can?

A o

® o

® ,
)

./IO\. N

A 1

D 14

[194] :JNMnm«%mmcnmao.n.nQB } Mathematics' | LevelC Conying is prol

3. Select TWO objects that have a mass that is less than 1

kilogram.

@ Acar

@ Aruler

@ An apple

@ A brick

@ A refrigerator

4. A slice of bread has a mass of 15 grams. Which BEST
describes the mass of a loaf of bread?
@ About 5 mJBM
@ About 5 kilograms
@ About 500 grams
@ About 500 kilograms

5. Part A
A carrot has a mass of 50 grams. A grape has a mass of
12 grams. How much more does the carrot weigh than
the grape! Wiite your answer in the box.

‘Part B
A bag has 8 carrots in it. Would you expect the mass of .
the carrots to be more or less than 1 kilogram? Explain
your answer.

Sample answer: | would expect the mass of the bag

“

of carrots io be less than 1 kifogram. because sach
carrot weighs 50 grams and 50 + 50 + 50 + 50+
50 + 80 + 50 + 50 = 400. Akilogram is the sams

as 1,000 grams and 400 < 1,000. N

Copying Is profibied. Chapter'4 |-Measurement and Data
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Mathematics | Level C

‘How would the scale change if a third boolcis added to the

left side?

Explain your reasoning.

Sampie answer: The scale would no jonger be

~

halanced. because the 3 books would be heavier

than 1 kilogram.

Use the masses in the box to answer the word problems.
The answers cannot be used more than once. Write each
answer in the correct box.

48 grams 55 grams 1,000 grams 1,027 grams

There are 6 blocks. Each block has a
mass of 8 grams. What is the total mass
of the blocks?

A can of soup has a mass of 250 grams.
Savannah’s mom makes 4 cans of SOUP.  lemmmrmnmmrmosmmmeen
What is the total mass of soup?

A bag of trail mix has a mass of
150 grams. Matt ate 95 grarns of trail [ A
mix. How much is left?

Mark’s Uo.or bag weighs 612 grams. He
adds a book that weighs 415 grams.
How much does his book bag weigh!

Copying is profibinad.

Now that xoc, have mastered solving problems with grams,
solve the problem in the Real-World Connection.
Lori weighs her smartphone with its case. Then she weighs

The mase of the smariphone case is 88 grams.

R
>

kilograms, and liters, lets

her smartphone without its

case. What is the mass of the smartphone casel Explain your answer.

m%mmﬁﬂomm.:mm = mass of 112 ¢.

So, 112 g + the case = 200 g.

Subtract io find the mass of the case:
200 — 112 =88

i can check the anawer: 112 + 88 = 200

N

Sample answer: The smariphone plus the case =200 g and the

53

Capyingis H

Chapter 4 | Measurement and Data | masteryeducation.com [1971]
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B SKETCH T

in the question 1 see
are correct.

tn the space below draws a picture
graph of the table using a key of 1
badge picture = 2 badges. Then

compare it 1o the statements fis
ch ones

[202] masteryeducation

chematics

2. The table shows the number of badges earned by girls in a

SCOUE troop.
india 11
Jessi 3
Lily 10
Nira 1
Sara 4

The data from the table is shown in 2 picture graph with a
key of 1 badge picture = 2 badges. Select THREE statements
about the picture graph that are true.

The row for India will show 11 badge pictures.

The row for Nira .<<E show half-badge and whole-badge
pictures.

®

® The row for Sara will show only whole-badge pictures.
gep

©

The row for Ella will show 4 é:om..m-gamm pictures and
1 half-badge picture.

@ The row for Jessi will show 1 whole-badge picture and
1 half-badge picture. :

How Am | Doing?

What questions do you have?

How do you determine the scale for a graph?

Which do you prefer; a picture graph or a bar graph? Explain

your choice.

St B gy ey R AT et st

Capying is prohl

Chapter 4 | Measurement and Data

4 TURN AND TALK

Survey your classmates to find out

ir favorite colors. Then make a
picture graph showing the data. Use

your own paper for the graph.

i Color in the traffic signal
that shows how you are
doing with the skill.

masteryeducation.com | 203 ]
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¥ TIPS AND TRICKS

Read each statement and dedide
s trie based on the

whethe!
data in the graph, If itis not wrue,
cross out this choice.

[ 2047 masteryeducation.com

INDEPENDENT PRACTICE

Answer the questions.

1. Gianna wants to make 2 bar graph showing the number of
summer birthdays in the third-grade class. She collected data
about the number of birthdays in each summer month. Gianna
will show the information from the table in the bar graph.

june
July _ 12

o

L

Which statement about Gianna’s bar graph is truel

August

2

The bars for June and August are the same height.

@

The bar for August is the shortest bar on the graph.
The bar for July is the tallest bar on the graph.

The bar for August is twice as tall as the bar for june.

e

2. The graph below shows the number of siblings students have.

Number of Siblings Students Have

m
+

Number of Siblings

4 6 8 10

0 2 .
Number of Students

The same data is shown in a picture graph with a key of
1 symbol =2 students. How many categories have morg
than 2 whole symbols?

Write your answer in the box.

: categories

Cosying is'prok

| Machematics | Level €

3. The table shows the number of students who have to do

each chore.
Wash.dishes 8
Sweep floor [
Clean room 18
Yacuum w 2
Take cut trash # 12

Show the data in a picture graph. Each symbol in the graph
will mean 4 students. )

Draw 2 line from each chore to the symbols that will show it
on the picture graph.

Wash dishes

Sweep floor

Clean room

Vacuum

Take trash out

ﬁwwvﬁm_.; 4 “Measurement and Data |
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wm Part A

T4, mﬁcamnﬁ voted for their favorite games at field day.
: The data shows the number of magazines at 2 schoal fibrary.

WORK mum.y £ The results are shown below.

H N N

_Favorite Field Day Games

Obstacle course HH 1

Tug of war Use the symbol of the magazine shown in the key to make 2

picture graph showing the data in the table.

Water games

W Use the data in the table to create a bar graph. Make sure to
label the bar graph and shade in the bars. g

| Type of Magazine

Favoriie Field Day Games

Science

Key: Each % = 2 magazines

Part B
How would the graph be different if the key were
1 symbol = 4 rnagazines? Explain your answer:

& TIPS AND TRICKS

1 vou are stuck, try making

is new graph. Woul

Sample answen The gra n wouid be different

gifferent than the first piczare

Number of students

17eNpaAIRIseW | iy pue JUBUIRINSER | ¥ sondeyd

N ranhil
hecause sach oW would have a different number of greon
svimbois. Sports would have 1 symbol. Puzzle would
nave 1 whole symbol and 4 half symbol. Science .
wouid have 1 symbol. Craftwouldhave 2 & mbo
Bounce | Obstacle | Tugof Water -
5 house course war games
-Hu N B o " .a.i«s.fﬁ.r \
[ 206 ] masteryeducation.com | Mathematics | tevel C s prohibired. Copyings probibises. Chapter 4 | Measurement and Data | masteryeducation.com mwo.\H
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%u WORK SPACE " The dara from the tally chart is made into a picture graph.
_m The graph shows the number of sunny days each month.
t P
o
o Sunny Days Each Month Now that you have mastered makin hs, let’s solve the problem in the Real-World
(o] ¥ g grap p
W January HH I Connection.
0 wl The school librarian knows that third-grade students checked out |2 fantasy books,
3 February 3 biography books, é science books, maa 9 358@ voo_G Im:u her figure out the most
— March SRR popular bocks for third graders.
Create a picture h. Remember to inEam.m key and 3 title.
< April 1 S 4 10 picture graph. | .
5 Sample answern
5 May HH R
=, Favorite Type of Book
%. Month Number of Sunny Days . Book Type | Mumber of Check Quis
3 : T —
i January #Wﬂ : Fantasy ﬁ%@v T >
o February Mmmw : : Biography
] Sciencs e e
2 veon | £1434 ne |
—_ * * * Mystery = e
Oy April COF 3OE 30 .
Key: Each ,ﬂv = 3 books
ey el
Select THREE parts that are missing from the picture graph.
@ Tide
. =) Category labels
@ Scale
O ey
» Part B
= What should the key for the picture graph say? mxwu_m_: how
you know.
Sample answer: The key should sav each sun .
L T squsals 8 davs, February had 8 sunnv davs, and ’ .
o ttretioen NN rogezirg ATl - - ) ’ . . ]
@ : I there is only 1 sun pictured. Ry, L o C P
/M. i - B B . g . oL . .
c.m. [208] Bmmnmn%mm:nmdom com |} Kmmymawﬂnm P level C Copying is prokiized. Copying s profibied. © Chaprér 4 | -Measurement and Data | Emmnmw.%wacnmﬁo:.nog [209]
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£ BAR GRAPHS:

SEROAE Use the graph to find the number of each type of
m)cmﬂmo_a. .

>nnoa,5m.mo the graph, 14 apples, 18 bananas, 6 pears, and
10 peaches were sold.

B TURN AND TALK

Think about the vSEmB from
the beginning of the fesson. What

operation is needed to.scive the
problem? How do you know?

g Add to find the total.
14 + 18 + 6 + 10 = 48 pieces of fruit

GUIDED INSTRUCTION

Use the bar wﬂﬂu.w to answer the questions that follow.

B SKETCHIT B
. Library Books Checked Out
To check your work for the o 100 -
difference between sports books - 90
and humor books, draw the bar m 80
for sports over the bar for humor 8 70
in the graph. See how many bar 5 60
lines are covered by sports and - 80
" Q 40
not humor. 2
£ 30
3 20
10

[0}
Mystery History Biography Humor  Sporis

Type of Books

1. How many more sports books were checked out than
humor books?

There were 30 sports books checked out. There were
10 humor books checked out.

o

tepilwe Find the difference.
30—-10=20

So, 20 more sports books were checked out than
humor books.

{2127 masteryeducation.com '] Mathematics | Level C

i

Copying is prohibised,

2.. How many more mystery books and history books were
checleed out than biography books and sports books?

$2e0i90d Find the number of mystery books and history
books in the graph.

There were 60 mystery boolks and 90 history books
checked out.

Find the sum.

At

STt

books in the graph.

There were 20 biography books and 30 sports books
checked out.

checked out.

3. Find the difference between the greatest and least numbers
of books.

Find the greatest and the least numbers in the graph.

The tallest bar (history books) represents the greatest
number.

The shortest bar m humor ” books) represents the least

number.

Subtract the least number from the greatest number to find
the answer.

i 80 1—10=; 80 imore history books were

checked out than humor books.

Copying is prohivized. Chaprer 4 | Measurement and Dara | masteryeducation.com _“ 213 M
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B HINT, HINT

Check each month, Thefirststep is

o find out how many quizzes were
in Menth 2, for example: Thers

were 15 quizzes in Month 2. There
were 10 quizzes in Month 3. There
were fewer quizzes in Mo

there were in Month Z. so cholce B

is not corract.

3than

Color in the traffic signal
that shows how you are
doing with the skill.

[214] masteryeducation.com | Mathematics | Level C

4. The graph shows the number of math quizzes students had
during a six-month period.

Math Quizzes During a Six-Month Period

35
30
25
20

Number of Quizzes

During which months were there at least 10 more math
quizzes than there were during Month 27 Select TWO
correct answers.

A Month 1

© Month4
& Month6
Wi

How Am | Doing?

What questions do you have?

How do you determine the interval of a bar graph?

How do you determine which operation to use to soive .

the problem? )

INDEPENDENT PRACTICE

Answer the questions.

WORK SPACE

1. The graph shows the colors of cars in 2 parking lot.

Color of Cars in a Parking Lot
T 1

0 5 10 1520 25 30 35 40 45 50 55 60 65 70 75 80
Number of Cars

Write answers in the boxes to make each statement true. '

Thereare | 15 more w white cars than blue cars.

total numberof | red | and | blue | cars.

PP P

P .

Copying is peo Chapter 4 | Measuremeis dnd Data |- masteryeducation.com mw.ﬂmw .
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P TIPS AND TRICKS
Remember to use the scaie of
the graph to find the value for
each ban.

B TIPS AND TRICKS
On a computer-based test, you
may see items that ask you to drag
objects into the correct ordern

[216] masteryeducation.com

2., The graph shows the hair colors of third graders at an
elementary school.

’ Hair Color of ._.E_‘m Graders
T

ir Color

Ha

0 5 1015 20 25 30 35 40 45 50
: Number of Students

How many more students have brown or black hair than
blonde or red hair? Write your answer in the box.

3. The graph shows how students get to school.

How Students Get to School

100
90
80
70
60
50
40
30
20
10

[¢]

Number of Students

Bike Walk Bus Car
Method of Transportation

How many students combined take the bus or a car to

school?
@ 9% ® 1o
© 160 © 130
| Mathematics | Level C Copying is prok

4. The graph shows the favorite colors of a group of students.

. - Favorite Color

Number of Students

Orange Blue Red Green Yellow Other
Color

How many students in all chose the two most
popular colors?

& 9
® 1
© 7
© 18

5. The graph shows the number of T-shirts sold over 5 weeks.
T-shirts Sold

Week

Week 4 [T RmRI

| ]
0 5 10 1520 25 30 35 40 45 50 55 60 65 70 75 80 85 90

Number Sold

How many Fshirts were sold over 5 weeks? Write your
answer in the box.

Capying is p i

Craprer 4 | Measurement and Data | masteryeducation.com _“NAN M
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Lesson 21 USE BAR GRAPHS

YWORK SPACE

[2187 masteryeducation.com |

Mathematics | Level C Copy

6. The graph shows the favorite vegetables of third graders.
Favorite Vegetable

Number of Students

Carrots Broccoli  Peas Greenbeans Celery  Other

Vegetahle

How many more students chose carrots and celery than
broccoli and green beans?

& 14 ® 28
© 36 D 8

N

7. The graph shows the favorite sports of some students.

Favorite Sports

N Wwh
oo oo

inber of Students
IS

oo o

Nu

Sport

‘Which totals are greater than the total number of )
students who chose baseball or football? Select THREE
correct answers. '

@ bvaskerball and golf

@ hockey and golf

@ baseball and golf

@ football and golf

g s proh

@ baseball and basketball

15

Basketball Baseball Football Hockey Tennis Golf Other

izad.

8.

d (in dollars)

Money Raise

Part A
The graph shows the amount of money raised during 2
school fundraiser.

School Fundraiser Totals

Day

How much more money was raised on Friday and Saturday
than on Tuesday and Wednesday?

Write your answer in the box.

${ 140 |

" Part B

Explain the steps you used to find your answer.

Sample answer First, | added 280 and 220 1o

get the tolal for Friday and Ssturday. 480, Nexd, |
added 140 and 200 fo get the total for Tuesday and
«%mammmmmﬁ 240. Then, | subtracted 340 from 480
{o get the answer of 140,

Chapter4: eesurement and ' Data
R TEEEETTE

4 TIPS AND TRICKS

How did you solve the problem?
Break your answer into steps.
Describe each step.

&wmﬁm«wm,n_vnmno:.no? 219}
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Now that you have mastered bar graphs, lets solve the problem in the
Real-World Connection. :
Sol made this bar ,mﬂwvr that shows what kind of pets his classmates have.

Type of Pet

How many more third graders own a cat, dog, or fish than own any oﬁ:.mww,ﬂw_um of pet?
Explain how you know. o :

Sample answer'80 more third graders at Sol's school own 2 cat dog, of
fish than any other tvpe of pel. o

The third mﬂmamﬂw.oﬁs. 25 amewm.; 40 dogs, 30 fish, and ,»m@wymﬂ pets.
Add fo find the total nimber of cats, dogs, and fish: P
P54 A0+ B0 =95 L e
Subtract the number of o%mwm%wad& the total number of cats, dogs, and
fish: 95 — 15 = 80, R

. _ _ . y

[220] masteryeducation.com |
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B TALK ABOUTIT
YWhat oth:

- information can you

gather from the line plot? Hovwr can
you tell how many values are in the

data set?

B TURN AND TALK

Think about the other set of data.

[2227 masteryeducation.com

Vocabulary in Action

® A graph is a way to organize and show information.
The information in a graph is also called data.

e Aline plotis a type of graph.

e A line plot shows you how many of each numberisina
set of data.

@ A line plotis a number line with Xs or dots above the
numbers. The Xs or dots show how many times the
number appears.

The fine plot shows the lengths of some berries.

Berry Length

+

X

-
N X

PO X X X X
s dox

N X X

3 3
Length (in.)

2

N —

How many berries are \“W inch long?

Count the number of Xs above \_W There are two Xs.

. 1.
Two berries are 15 inches long.

Which set of data matches the line plot

3 11 .1 1
Set A: 53, 6, 65, 53, 67, 55

4

1 e3 e 1
Set B: 6, mM. 2 O 6, mM

X X .,
X X X X
—————t—

1.3 g o1 A1
55 57 67 6%

Length (in.)

Mathematics | Level C

List the values in each set from least to greatest.

1 1 3 11 11 =3 1
Set A: 55, 2 % 6, 67, mM Set B: wM. e 6, 6, mM

Compare the data values to the Xs in the line plot.
1 3

The line plot shows two Xs m@o«m 5z, one X above 5%, two

Xs above 6, and one X above 67. These are the data values
mnmmmm. .

Set B matches the line plot.

GUIDED INSTRUCTION

1. The line plot shows the lengths of 12 insects.

Use the line plot to find the set of data.

Insect Length
X
X
X X X X
X X X X X X
1 41 2 o1 8 g1 4 41 5
3 23 33 43
Length (in.)

Find the number of values in the set.

mmnj<wEm5w:smU.ommwﬁmwﬁmmm:ﬁmaim%wzx.ﬁo::n%m
number of Xs. ‘

3

There m_)mw i2 m<m_cmm in the set.

A line plot shows all the possible measurements between the
least and greatest value. The measurements without Xs will
not appear in the set of data.

Which lengths will not appear in the set of data?

Capying is pr Chapter 4 | Measurement and Data |

| masteryeducation.com [ 223 ]
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P TIPS AND TRICKS

To solve the probiem, compara
the dsta in the ist o the data

in the line plot. Cross out eath
rumber in the listthat isonthe
plot. The leftovar poinis 72 the
ones Marco nesds © acd.

[ 2247 masteryeducation.com

wiathematics |

List the data from least to greatest.

The length of the insects in inches are:

Marco measured the length of each nail in his toolbox. He
mmade a chart of the data. The measurements are in inches.

Then he made a line plot for the data.

Nait Length
X % X X
x X X x X X
1 L1 4142 2 151
iz 1z 1% 27 23
Length (in.)

Sefect TWO values that Marco needs to add to his
line plot.

N
m@).\

®O00
R e
[N TN

N
|

@

| Level C Copying

How Am | Doing!

Howhm ™% —

What questions do you have?

What if you measured each

i pr

4

< o

<

kA

pying is

ata would be shown in a line plot.

T st ST

Chapeer 4

person’s shoe si
How many Xs would

id be on the number line!

i

P—

Measurement and Data

it

!

I
& TURN AND TALK

5, z partner. Measure

the length of five objects in your

classroom to the nearest haif

inch, Record gach objectan
measurement. Then make
oot showing the measurements.

e

Color in the traffic signal
that shows how you are
doing with the skill.

[2251

masteryeducation.com
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WORK SPACE

INDEPENDENT PRACTICE

Answer the questions.

4. Maria measured the height of each trophy on her shelf.
She made a line plot of the data.

Trophy Height

HK XXX

X

.
t

1
82
Height (in.)

r X

|

(=]

MBS
~

<

poj T X X X
0 X X X
© 4 X

ml—t'L><

Which statement is true?
2 trophies are exactly 9 inches high.
1 trophy is exactly m\lm inches high.

0 trophies are exactly mw inches high.

® 0 e

3 trophies are exactly 7 inches high.

2. Donna measured the length of each screwdriver in her-
toolbox. The measurements are in inches.

1 1 . 1 1
161 15 17 18 15 17 173 17; 1718

She will use the data to create a line plot. Which ~m3m§. will
have the greatest number of Xs stacked above it? Write your
answer in the box.

. \m.ww inches

| Mathematics | Level C

{ Cogying is prok

3. José went to the museum. He measured the length of each
beetle that was preserved in a display. The measurements
are in inches.

1 1 1 1
15 1 2 35 3 = 15 2
2 2 2 2 4 HINT, HINT
Thin ow how a tine plotis
designed. How is it like a ruler?
What fiumbers should be on the

He is making a line plot of the data. Which length will have
no Xs above it? Write your answer in the box.

m MM inches m rumber line?
H 2> H

4. Part A
Victoria measured the length of each pen in her school bag.
She used a line plot to display the data.

Pen Length

X

X X X
X X X X
7 41 4,1 .3 8 g1
7z 73 7% 87

Length (in.)

Which set of data matches the line plot!
3 1.4 1 3 5 53
@ qu 7, 75, 5 mN. |\M. 7, NM

® 71777k e 7 s

N-
© 777788
© 72775 AT 875 7. 758
Part B

Doug says 8-inches is a value in the-data set because it is
shown on the line plot. Is he correct? Explain how you know,

Sample answer: He is not correct because there arg
no Xs above it. oo

Copying is pes
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I TIPS AND TRICKS
On a computer-based test, you
may see frems that ask you to drag

objects into the correct place.

WORK SPACE

[2287] masteryeducation.com |

Mathematics |

are in inches.

“ Erin measured the length of some leaves she
backyard. She made a chart of the data. The measurements

£

&,

Ray measured the length of each key on his key ring. He

recorded the tengths in a chart.
in inches.

The measurements are

WORK SPACE

RN
B 3 g1 4 41 5 sl
& ® e 4z 52
Length (in.)
X
X X X
@ x x X X X X
—_—t
3 41 4 41 5 51
%3 43 52
Length (in.)
X
X X X
X X X
2 X X X
& ————t
3 .1 4 41 5 51
%3 43 53
Length (in.)
X X X
Xx X X X X X
@ j g .4 “\__._
W o1 4 41 5 i
37 43 53
Length (in.)

P C

Leve

Then he made 2 line plot of the

data. He is about to write

the lengths on the line plot scale.

balital

X X
X X

—

1

gofes T
"

SIS
s

|

1

Write each number under the tick mark where it belongs.

Ruth measured the length of ea

She wants to make a line plot for the data-

By b X XX
b

ch eraser in her desk. She

made a chart of the data. The measurements are in inches.

have at least 2 Xs? Select THREE correct answers.

A
® 13
B 2

;
© z

A o]
©

Chapter 4 | Measurement and D

Which lengths will

ata |

masteryeducation.com
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Now that you have mastered using line plots, let’s solve the problem in the Real-World

Connection.

The students in Rosa’s class are learning about measuring length in inches. Each student

measures 2 pencil. Each length is recorded on a line plot. Rosa also measured her pencil,
which is shown below. Where should she place her X on the line plot?

T _ T _ T — T T m T _ T _ T _ T _ T _ T _ T _ T _ T _ T _ T ~ T _ T _ T _ T _ T i T
inches t 2 3 4 5

Use the ruler to find the length of Rosa’s pencil.

T i
Rosas pencilis; 5  iinches long.

Explain what the line plot shows and where Rosa should place her X.

Pencil Length

|

P
H
Nof— 3 X

XXX

X
X
X
5

@ 4 X X
Nt %X

1
2
Length (in.)

X
1
5 6 NM

)=

Sarnpie answer: The lins plot shows the lengths of pencils in inches. Each
X represents a pencil, Rosa should add an X above the 5 because her
pencit is 5 inches jong.

&

[230] masteryeducation.com | Mathematics | Level C Conying is probibized.
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Answer the questions.

1. What time is shown on the clock? Write your answer in the boxes.

2. Part A
When Katie finishes reading, the hour hand is between m:m 7 msn— the 8
The minute hand is on the 11. <<_,~wm time does Kwﬂm finish w.mmn_:._w

Katie mﬁmwmm reading mw 7 mw

ParcB o b

4.03ﬁ:_mrmw «mma_:m AwBEcnmm wmnm« mAmam. <<:mn n_EmaOm._.OB .w_,.imr, 1mm&:.,m.~
mxv_mﬁ roi VBC mocsn_ v\oE‘ answer. £ - ,

._.rmamzmmroiw ﬁrm mmmlu m:g m:n_ n:smw oﬁ n<<o m<m3ﬂm wn nrm :UBQ
VWhat ﬁ:.:mm no_dv_mmm the table?, : ;

Write your answers'in ﬂrm.VOXm

& minutes

32 minutes
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o 3 500 g

. 4. Quinn woke up at 7:40 am. It took him 10 minutes to get dressed, and 15 minutes to

eat breakfast. Then it took him 3 minutes to pack his book bag and get ready for school.

@& 738

B a0
© o8
© 815

5. Jason has five objects with the following masses: 200 g, 4 kg, 1 kg, 30 g, and 500 .
Order the objects by mass from least to greatest. Write your answers in the chart
below.

1 30g

2 200 g

| Capying b prohibicad.

6. Select THREE items that MOST LIKELY weigh 1 gram.

@ sugar packet

@ bag of apples

@ textbook . .
@ piece of gum

@ earring

7. There are 8 cartons of juice in each box. There are 32 liters of juice in a box. '
What is the volume of each carton of juice?

Write your answer in the box.

How many grams is the mass of the rock?

55
® 30
© 45
O 40

.O&N,vnmmm I .ann_.__.mBm,_..n and Data Bﬁnmﬂwmacwunow.woﬂ o wwwu
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@ 11.Part A
ml Some students were asked their favorite subject. The results are shown in the graph.
3 g ; o 2 i o g
) m >mcmnc3 % Favorite Subject
m Farm i . 85
W Library . 80
3 Theater : , . 75
— Zoo : 70
65
= Matt is going to create a picture graph from the data and use a bus as » 60
=4 the symbol. Each bus will stand for 2 students. b=
gL 4 S 55
Wc Which group of symbols should Matt use to show the data for zoo? m 50
o3 B 5 P %5 45
o W\M\ g40
a B ; = S Ess
— © === == = 30
b D == == = 25
< : 20
2N 15
s 10. The students at a school are ordering school Teshirts. The graph shows
’ how many students want each color shirt.

Science . English, Social
Studies
. Subject

How many students were asked in all? Write your answer in the box.

;
: students

10 1z 14

Select TWO items that are missing from this bar graph.

If 15 students changed mrm:. answer %83 wOn_N_ mdca_mm ﬁo wn_m:nm, <<oc_a your answer
@ Catéiory label B Dam from Part A change? Explain why-or why not.

[ »)]
A4

@ scale label @ Tie ’ Sample ahswer: No, my answer would not change. 1115 &cmmn? changed
©® scae their favorite subjects, the-total number of studerits would stifl be the same;

»palgngo.zd s1 fuddon
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< that is more than 1 kilogram.

17 Select TWO objects that have a mas

'

@ A pencil @ A television
@ A car @ A banana
@ A Kitten

13. Lisa is going to meet her friend at a store at 14:00 aM. She arrives 70 minutes early.
When does Lisa arrive at the store?

Use AM. OF PM.

Write your answer in the box.

i h 44 Part A
Lo Donna measured the heights of some figurines. The measurements are in inches.

1 3 1 1 3 1 1
23 13 1 15 13 12 1) 15

She will use the data fo create a line plot. Which height will have the greatest number
of Xs? Write your answer in the box.

© quauainsedld | p JoadeyD

: wm inches

Part B
How many heights should Donna use to create the line plot scale? What are they?
Explain how you know.

N a1 43 . 4
Sample answer Donna should uss 7 heights: 1 g \Tw“ 15,2, 2=

ch height between 1 and wlm sven if therg g nota

-yopyeonpakialselt | eweq pu
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Vocabulary in Action
e A unit square Is a square with 4 side lengths of 1 unit each.
7 ® A unit square can be used to waa the area of a shape.
e Areais how much space a shape covers.

6 The sides of a unit square are each 1 unit long, so its
area is 1 square unit.

You can cover a shape with unit squares 10 find its area.

When you cover the surface area of a shape, there must not
. be any gaps or overlaps.

B TURN AND TALK

What happens if there are gaps or

overlaps when measuring the area The area of this shape is 7 square units.

D 1 square unit

of a shape?

Sometimes you can break a unit square into equal parts to cover
a shape: :

If you break 1 unit square into 2 wriangles, you can cover the
area of the shape without gaps or overlaps.

: AN

#ine Break the shape into unit squares and triangles.

el

Combine the triangles into units.

—U

. Count the units.

B SKETCHIT

" Draw some different ways you
could break apart a unit square.
Cu
that is made up f whole zn
half squares.,

¢ a shape on grid paper

There were 2 unit squares, and the two triangles malke another
square, for a total of 3 units.

) [2387] masteryeducation.com | Mathematics | Level C

CUIDED INSTRUCTION

4. The shaded part of the grid shows the layout of 2
flower garden. Find the area-of the garden.

4 THINK ABOUT IT

In Exercise 1, the unit square is
1 square foot. In Exercise 2.

the unit square is 1 square inch.
\What happens to the area when

the unit square changas!

Count each of the unit squares that are shaded.

Each square on the grid is 1 square foot.

full squares.

There are 11 full squares.

the units in your answer.

Theareais; 13 sguarein. |

Capying is prohibiced, Chapter 5 | Measurement and Geometry | masteryeducation.com MNwo”m
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»iLessan 3.0 S MERSURE AREA:

B HINT, HINT

Remember, 2 tricagles are equal ©o

1 square ft.

[240]

masteryeducation.com
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3. Select THREE shaded shapes that have an area of 10 square

feet.

@

Mathematics

Level C

] 1square tt

How Am | Doing?

What questions do you have?

Look around the classroom. Where do you see square units?

Explain how you could use square units to find the area of a

classroom object such as your desk or a book.

e st

Capying is pre

MEASURE AREA

. 4§ TURN AND TALK
Workin a small group. Use grid
paper to design a floor plan. The
design should include ar least

5 rooms (living area. kitchen,
bathroom, bedroems, etc.), and
should not be farger than 1,500
square feet. Label each reom and
write the measurements as wel; as
the arez for each room. Share your
ficor plan with another group.

Color in the traffic signal
that shows how you are
doing with the skill.

lh
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4. What is the area of the shaded shapel

Whrite your-answer in the box.’

Cletet 9 What is the area of the shaded shape?

£y pue JUBWAINSEI|Y | ¢ sodeyn)

'
D 1 square ft

11 square ft

12 square ft

12 square in.

OO0

18square ft

B

. mNn.ﬁm menonmcnmamm.nOE | Mathematics |’ tevel C v T Cogpings prohiized,

[ 51 ] wo:_ruope:npeba;sew | Anewod

3. Circle TH
shaded.

\@M/\ 22 square in.

AN

B 10squarein.
@ 9 square in.

@ 8 square in.

Copying is prohipited.

REE shapes that have an area of 8 square units

D 1 square in.

Chapter 3 | Measursment and Geometry

!

TIPS AND TRICKS

f this testwas on a computen.you

may be asked 10 select items by

cicking on e@

,.amﬁh..»

WORK SPACE

masteryeducation.com {243 1
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[ 2447 masteryeducation

MEASUREAREA

.COm

Marisa says that the shape has an area of 9 square units.
Marisa is incorrect. Explain how you know the area of the
shape cannot be 9 square units.

D 1 square unit

Sample answer: The area of the shape is less than

- 8 square units because the shape doss not have §

full unit squares.

“Part B

Draw lines on the grid to show a figure that has an area of
9 square units.

D 1 square unit

Sample drawing shown,

Mathematics | Level C

,w
,b& Use the shapes in the box to draw 2 shape on the grid

that has an area of 4 square units. Shapes may be used
more than once.

[N AV N

D 1 square unit

Sample drawing shown,
"7, Which statement is true about each part of the shape.

w X

Y z

D 1 square unit

Shapes W and X have the same area.

k)

Shape W has a greater area than shape Y.

The area of shape X is 12 square centimeters.

) O

€

Shape Z has the greatest area.

Copying is prof

s Chiprer's m .memcimn,mnm,wnm,mmoamj

4 HINT, HINT

Each square on the grid has an area
of 1 square unit. Each tiangle has

4 N
an arez of 3 square unit,

WORK SPACE
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Now that you have mastered finding area, let’s solve the problem in the
Real-World Connection.

Gavin wants to cover part of a wall in his kitchen using peel and stick square tiles. Gavin
needs to know how many peel and stick square tiles he needs to buy to cover part of
the kitchen wall. e

Part QﬂOms: m wall to cover o T
T ewaream

The number of n:,mm.,..,mwin needs is equal to the area.
How many square tiles does Gavin need to buy? Explain how you found the answer.

Gavin needs 1o buy 5 small squares. | counted the number of square tiles
it will take to cover the area of the wall. He needs 4 whole squares

for the one ﬂm%.am the wall, Then if Gavin cuts 1 whols squareinio 2

halves, he can cover the top part of the wall with 1 whole square. 4 + 1 = 5.

The area Gavin needs to cover is § square units.

\

[246] masteryeducation.com i Mathematics | Leve} C Copying is
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INDEPENDENT PRACTICE

YWYORK SPACE
Answer the questions.
1 - 6 S 5cm
. What is the area of the shape? cm
. B THINK ABOUT [T P
You learned different ways to @ 12 square in.
area. You can uss one methed = ) . 7om
o find the znswer and the orher fw\ 21 square in. 3in. 6cm
rechor to check your work. @ 24 square in. i - . )
Sin.
@ 27 square in.
~ T 5cm U 6cm
WORK SPACE
2. Complete the equations that show the area of the rectangles.
8cm
P Write your answers in the boxes.

émXi 5 !m=30squarem

Rectangles R and S have the same area.

@ ®

Rectangle U has a greater area than rectangle S.

D [ere | sonewsyiely | wod uoneonpakielsew [179;,]

@ Rectangle R has the least area.
)

o

Rectangle T has the greatest area.

5. Select THREE rectangles that have an area of 24 square
centimeters?

3. Delaney is painting a picture that has a width of 6 meters and

. a length of 7 meters. Write the number that will correctly @ & cm by 4 om

complete the equation and sentence.

2cmby 6 ecm

- meHW 42 @ 3cmby8am
prmmm——— - 4 by 9

The area sy 42 i square meters. @ cm by Zem

Srmmmmmea ‘ @ 9 cm by 4 cm

vilis.ucty aj.\fxﬁi?@,\&}ﬁa{?, oy

is prof
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b

P TIPS AND TRICKS
Hyou see m,ncmmao: like this orra
computer test, there may be a fine
‘ool to separate the figure to show
the area. :

B SKETCH IT

Make sure you understand

nurnbers are given and what the
. probiem is asking you to

Somerzimes drawing a picture can
be helpiul.

[254] masteryeducation.com

Part A . . -
Derek has a disk that is 3 feet by 5 feet. Draw lines to show
the area of the desk. , .

3t

51t

Part B
Explain another way to find the area of the desk besides
. drawing lines and counting unit squares.

'Sampie answer: | could muliiply the side lengths of

5 feet by 3 feet o find 15 square feet

7. Part A
Marco has a rectangular poster board that has an area of
16 square feet. One side length is 4 feet. What is the length
of the other side?

Write your answer in the box.

i 4iest |

Explain how you found the length of the other side of
Marco’s poster. )

Sample answer: | can multiply side lengths fo find

the area of a rectangle. | used the mulliplication

fact4 X 4 = 18.

So the other side is also 4 feel.

i Mathematics | Level C Cogying is pr

e

Now that you have mastered finding area, let’s solve the problem in the
Real-World Connection. .

For her vegetable garden, Tonya plans to make the garden 4 feet wide and 8 feet long.
Tonya can use multiplication to find the area of her garden.

41t

gt

What will be the area of Tonya’s garden?

Tonya's garden will be 32 square feel.
There are 4 rows and 8 squares in each row; or there are 8 columns and

4 gquares in ezch solumn. Muiltiply fo find the area.
8§ ¥ 4 =32

4% 8=232

o

Capylng is prohibied. Chapter 5 | Measurement and Geometry { masteryeducation.com M 255 w
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P TIPS AND TRICKS

Check your answers by counting
the squares §

de each rectangle.

D 1eas | sonpeweypely | woduopesnpakiolsew
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Mathematics | Level C

3. Part A

Write equations to find the area of each rectangle.

D 1 square meter

78 Find the side lengths of the top rectangle.
gr

st

The top rectangle has sides that are 7 and 5 meters.

Find the side lengths of the bottom rectangle.

The bottom rectangle has sides that are 7 and _ 3

i
m meters.

Uy Find the area of the bottom rectangle.

7XE 3 =2

Part B

Write an equation that uses the side lengths of the rectangle
to find the area of the figure.

s

2 Write an equation for the total areas of the

mmnmm:m_mm. Use the equations from Part A.
TXE+3)=(7 X5)+(7x3)

s
eI

7 X (5+3) = (35) + 1)

Find the area of each rectangle.

y=i 58

How Am | Doing?

What questions do you have?

How can you find the area of a rectangle? How can you find

the area of a complex figure by finding the area of the

rectangles in it?

What is an example of a rectangle that you see or Use every

day? What is a complex figure that you see or useé every day?

Copying Is prohibkad:

4 TURN AND TALK.

Find a parmer and together, look
around the ¢! ssroom. How coutd

you find the area of your classroom?
de entryways and
closets.) Describe the steps you
would need to take to find the area
of the entire ¢lassroom.

 {Besuretoin

Color in the traffic signal
that shows how you are
doing with the skill

: »pg:gq;qo.xd s1 SwAdon
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' INDEPENDENT PRACTICE

1. Part A .

Draw lines to divide the complex figure into rectangles.

1cm 1em

6 cm 6cm

4 cm

Sample drawing shown,

Part B
TIPS AND TRICKS :
> : ICK Complete the equations to find the area of the figure above.
Some questions might have Write your answers in the boxes.
more than one part. Review the
informazion in Part A to help find
the answer for Part B. Sample answer:
P b x boa b=
: ! : : L i
m}.:..m.!;;.« x i 2 p = = H
: : A i3
; : ; : ; :
o3 0 X oy 4 7 =1 12
H : ; ; H i
e [ P TP PO, B ;
b3 b+ s ph 12 b= 18
[264] masteryeducation.com | Mathematics | Level C Copyingis prohibizzd.

- ADDAREAS

2. Which equation represents the area of the figure!

D 1 square inch

4X @A+ =@EX4+(EXD

&

AXEFD=EX+EXDY

0@«

AX(6F1) = (4X6)+ (4XT)

©

AX T+ =@EXT)+{EXD)

3. What is the area of the shape below in square feet?
4 HINT, HINT \

2§t Decompose the figur
wwo rectangles. What al
dirnensions of each rectangle?
41
6ft
6 ft
21t
git
® 2
p
® 2
© =
© =
Capying is prebibited. Chapter 5 | Measurement and Geometry | masteryeducation.com {265 1
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WORK SPACE

B S 1, g, 4640 oy

4. What is the area of the figure?

VVrite your answer in the box. Include the equation you used.

D 1 square meter

oy

45 sguare melers

BX{4+5)=(5x%4)+(5

X 8}

Rex is cutting a piece of carpet. What is the area of the

carpet?

Write your answer in the box.

3m

[266] masteryeducation.com | Mathematics | Level C

Cogying is prokilized.

6. Part A
Yvonne wants to find the area of the deck. She says she can
brealk apart the figure into one rectangle with side lengths of
5 and 8 meters and another rectangle with side lengths of
4 and 9 meters. Is she correct? Explain.

9m

4m

S5m

8m

Sample answer: Yes, she is correct Yvonne can

draw a horizontal line fo divide the figure. The fon

reciangle would have side lengths of 4 meters and

S meters. The bottom rectangle would have side

lengths of 5 meters and 8 meiers.

. Part B

g
Describe another way that Yvonne can find the area of the
deck. Find the area and show your work.
Sample answer. Yvonne can draw a vertical line to -
givide the figure. One rectanagle would have sides
of 4 and 1. The other reclangle would have sidses of
Fand 8. Theareais (4 X 1) = (8 X 8} = 76 sauare
msters.

Capying Is preb

4 TIPS AND TRICKS

Check that you answer all parts of
the question. This question asks if
someone's work is correct. It also
asks you to explain.

WORK SPACE

O
o)
°
-3
=
&
=
B
S|
=
&
=X
o
e-
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Now that «o.: have mastered finding area by breaking a shape into rectangles, let’s solve
the problem in the Real-World Connection.

In Jessica’s new lawn-mowing service, the amount she earns depends on the area of the
tawn she mows. The figure below is the shape of Perry's lawn. What is the area of the lawn?

7 24t
3t

10
The area of Perrv’s lewn is 82 sauars feet.
Sample drawing shown.

a8

4
7R 2%
3k
0%

Find the area of each rectangle.

X7 =258

2x3=6

Find the total area of the lawn by adding the area of the rectangies.
56 +6 =62

[ €1 ] WO UOIIRINPIAIRISBW | ANBWODE) PUB JUBLISINSES] | ¢ odeyn

\
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B HINT, HINT

Start by finding the perimeter and

What is the perimeter of the rectangle?

4 cm

2cm

Remember that a rectangle has two pairs of sides. Each pair is
the same length. In this rectangle, two sides are 4 cm long and
two sides are 2 cm long.

The perimeter is the sum of all of the sides.
4+2+4+2=12

S0, the perimeter of the rectangle is 12 cm.

GUIDED INSTRUCTION

1. Alex is building a rectangular garden. He made three designs.
Each design has the same perimeter. Which design should he
use to create a garden with the greatest area?

9m 3m

12 m 5m| ¢

masteryeducation

id sy Buiddony

Mathematics | Level C

is prohibized.

Capying is proh

| Find the perimeter and area for Design A.
The perimeter of Design A s

3+ 9+ 9+ 9 =36meters

The area of Design A is:

9X9=281 81 square meters

Find the perimeter and area for Design B.

The perimeter of Design B is:

12+6+12+ nw 35  imeters

The perimeter of Design C is:

154+ 3 + 15 + 3 = 36 meters

The area of Design Cis:

; 7t :
15X: 3 i=i 45 isquaremeters

All the designs have the same perimeter. Ummwm:.m A M has
the greatest area. e

9m

8 Find the perimeter and area for Design C.

<
=
z
=X
@
o
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[272] masteryeducation.com |

P HINT, HINT -

Perimezer is the distance around
the mmmvm. To find the perimeter,
find the lengths of each side and
add them together.

2. Nico framed a rectangular painting. The perimeter of the
frame is 44 inches. Which of these frames could be the one
Nico used? Select THREE correct answers.

11in.
Y 4in.

13in.

~ 6in.

10in.

@ 121n.

11 in.

11 in.

20in.

@ ﬁ 2in.

Mathemarics | Level C

is prohibheed.

How Am | Doing?

2 SOIVE PROBLEMS INVOLYING PERIMETER - - Liesson

What questions do you have!

nearest whole inch, and then use
shose reasurements to find the

perimater. Racord your resul
awable.

How is area different than perimeter?

How could knowing how to find perimeter help you in the

real-world?

TN s e S Y et O gt

Copying is prehivied,

Chapter

A

5

| Measurement and Geometry |

Color in the traffic signal
that shows how you are
doing with the skill.

masteryeducation.com | 273 |




L Lesson'26 - SOIVE PROBLEMSINVOLYING PERIMETER

Mzwmmmzmm.‘w/@ wgn_wwwm m 4. Michael’s front door has 2 perimeter of 26 feet.

WORK SBACE The width of the door is 4 feet. What is the

. length of the door?
Answer the questions.

1. Mario has an eraser shaped like a regular pentagon. What is
the perimeter of the eraser?

8 cm 8cm ?.
8cm 8cm 41t
8cm Vrite the missing length in the box.

IR P —— .
. & 32Zem fga |

& 4om ) ) : .

@ 48 cm ‘ 4 HINT, HINT .

O e4om * Jamal says that the perimeter of the rectangle is The perimeter of 2 shape fs the

N . ) . distance around the entire shape.
17 centimeters. What mistake did Jamal make? What is N P

the correct perimeter?

0 [oART | soneweylel | WO UOIEINpOAISISEL [821]

2. A rectangular tabletop has a length of 5 feet and a width of
8 feet. How many feet is the perimeter of the tabletop?
Write your answer in the box.

[, 5cm

12 cm

® length 5 in., width 10 in. Explain famal’s mistake and how you found your answer.

Sample answer: Jamal found the sum of the length
@& tength 20 in., width 5 in.

) and the width. He needs fo find the sum of all
@ length 12in., width 13 in. i the side lengthe. 5 + 12 + 5 + 12 = 34, so the
© fength 30in., width 20 in. perimeter is 34 om,

® length 22 in.. width 3 in. _

e g P s e, Vi g

e

H '

mwﬁu masteryeducation.com | Mathematics | Level C ’ Copying is pre

" Chapter 5 1 Meastirernent and Gedmstry Smmm,m«wmm.cnmao?mma .m,N.\mw ;
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Mathematics | Level C

6. Eiis mowing the grass in his yard. The shape below shows

Eii’s yard.

What is the perimeter of Elf’s yard?

4m
[
7m
10m
2m
3m
.
6m
@ 18 meters
M,w/\ 28 meters
© 32 meters
@ 60 meters

Corying is prohibired.

Copping is p

Part A

Derek needs a 24-foot area in his garden to plant herbs. He
wants to use the design with the least perimeter. Which
design should he choose?

121t N

B A SR

3t C

Part B

Richard says that a design with a length of 5 feet and a width
of 5 feet would be better because it has a smaller perimeter.
Is Richard correct?

Explain your thinking.

Sample answer: Richard is not correct, A rectangls

with a length of 5 fest and & width of § feet would

have an area of 25 square feel. The design must

have an area of 24 souare fest

Chapter 5 |

4 HINT, HINT

Remamber, &

space there is insi pe.
Perimeter is the distance arcund
the shape.
4
4 TIPS AND TRICKS

For this question, write your

answer o! ses provided. For

JLesto: @ these, be sure to
write in complete sentancas.
After you have written your
answer. read it 1o see ifitis
clear and makes sense.

Measurement and Geometry | masteryeducation.com | 277 ]
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Now that you have mastered solving problems involving perimeter, let’s solve the
problem in the Real-World Connection.
Lucas is helping his dad build a rectangular deck. He is going to put 36 feet of railing

around the perimeter of the deck. The deck will be [0 feet fong. How wide will the
deck be? Draw a picture to help youi' © =7

The width of the deck is 8 feet.

161

Eithit

[2787] masteryeducation.com | Mathematics | Level C
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Lesson 27~ RECOGNIZE CATEGORIES OF SHAPES 1/,: o o R o i i , o . RECOGNIZE CATEGORIESOF SHAPES . ... Lesson 27,

2. Name the quadrilateral that matches the description.
Remember that a quadrilateral has four sides.

How Am | Uomzmw .

® Both pairs of opposite sides are parallel.

® Ali four sides are the same length. What questions do you have?

o Both pairs of opposite angles are equal. None of the
angles are right angles.

types of quadrilaterals.

It has two pairs of parallel sides, so it is a parallelogram.

i Look at the types of parallelograms.

All four sides are the same length, so it is a rhombus.

VWhat attributes do you lock at to describe and define

a polygon?

it
151

Look at the types of rhombuses.

None of the angles are right angles, so it is not a square.
This quadrilateral is a rhombus.

oA0T | sonewaylep) | wodruoizesnpadielsew [{;8[,]

0
B HINT, HINT 3. Select TWO shapes that are paralielograms. : d
A paraflelogram has 2 pairs of @ D o . -
Saueones How could knowing:about polygsns arid;their dteributes help .
®& O you in the real-world?; 11 Sy g
- @ ” .
A .
o
2
= .
oG [282] masteryeducationicom | Mathematics | Level C
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Answer the questions.

1. Which of these mr.w_u.mm is NOT a quadrilateraf?

A e It e 5Pt

. F284] masteryeducation.com | Mathematics | Level C

INDEPENDENT PRACTICE

B TIPS AND TRICKS
Look for words that give you R
information about the question. me\
 Then appiy that information when'
you look at the answer choices.
For example, i you sea the word " . @ U
“triangle,” look for a shape with
three sides.
©
WORK SPACE @RHHN
2. Which shape is 2 paraflelogram?
P P 2
@ rhombus
/\W/\ pentagon
@ trapezoid
@ hexagon
3. Select the statement that is true
@ A polygon cannot be both 2 square and a rectangle.
@ Some trapezolds are paralielograms.
@ Some parallelograms are hexagons.
(B} Al paralielograms are quadrilaterals.
P 3 g

,»mnOQZ_N.m,Qﬁmno ES OF SHAPES .. Tesson 2

4. Select the statement that is true. .
. WORK 82,

All trapezoids are parallelograms. :

All rhombuses are squares.

All quadrilaterals are parallelograms.

All trapezoids are quadrilaterals.

QOB

5. Finish this sentence. Write your answer in the box.

4. Select the THREE shapes that are rectangles. 5

1R N 05, g g

YO LN\ [~

/7 S

ANeNEPs </

Copying s prohibized Chapter 5 | Measurement and Geometry | masteryeducationcom | 285 ]
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P TIPS AND TRICKS

Be sure to read each question

7. Part A

Which name cannot be used to describe the shape below?

)

>

quadrilateral
rectangle

trapezoid

OO e

square

o Part B

Explain your answer to Part A.

Sampie answer: The polygon has four sides. so it

Now that you have mastered recognizing categories .of vomwmo:m. ~mnm mo_<m ﬁrm _u, oEmB :
in the Real-World Connection!

WVill has been asked to design a Enm in the urmvm of 2 rhombus. <<rmﬁ a0mm :m :mma to;
know about a rhombus to be able to Bm_nm ,

Sample answer:

Will needs to know that's rhombus is 5'GUdddiateralso it has four sidgs. Al
the sidesof s ﬂxoﬂmcm are the same lenoth, ?mﬁ
rhombus are mnﬁo

e opposite anglesof 3 -

is 2 quadrilaiersl. it has four right angles, so itis a

rectangie. The rectangle has four sides that are the

same length, so i is & square. I doss not have just

one pair of parailel sides, so it is not & frapezoid.

Part A

Is a regular quadrijateral a rectangie?

® Always O Sometimes O Never

Part B

Explain your answer to Part A,

Sampile answer: For a polvaon o be regular, all

of its sides must be the same lengthand all of its

angles must be squal. A square is the only type of

[ 2861 masteryeducation.com | Mathematics | Level C L Cozying

regular quadritateral. All sauares are rectangles

so a reqular quadtiiateral is 2 reciangie.

g s pr

ving is pr

-
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Answer the questions.

1. What is the area of the shape?

VYVrite your answer in the box.

2.

Seléct THREE rectanglés that havé.an'afea of 24 square’cernitimeter:

2ecmby 10 cm

® ®

4cmby 5 cm

6 cm by 4 ey .,

© ®

Scmby4cm

3cmby 8cm

@ 4'cm _u«m.na..

i
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6. Part A

Corey has a dresser that is 4 feet by 8 feet. Draw lines to show the area of the dresser,

41t

8 ft

Part B

Explain another way to find the area of the dresser besides drawing lines
and counting unit squares.

Sample answer: | could multiply the side fengths of 4 feet by 8

32 square fest

Order the steps to find the area of the figure. Write a number from*13 next
to each step in the table.

24+ 16
4x (6 +4)

(4% 6) + (4x4)

What is the area of the figure?

Write your answer in the box.

23 square inches

Part A

Is a regular quadrilateral a square?

@ Always O Sometimes

Part B
Explain your answer to Part A.

Sample answer, For a polvgon 1o be regular, gl of iis sides must be the

same length and all of iz angles must be egual. A sguare is the only ivpe

of regular quaddiateral
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10. A rectangular poster has a perimeter of 18 feet and a width of 8 feet.
Vhat is the length of the poster?

& 1%
B 2t
© 3t

© 4n

11.Kelli has 18 inches of yarn. She wants to use the yarn to trace all the way
around each shape. Which shapes can Kelli trace and have no yarn left over?
Select TWO correct answers.

13

©

S b LR

is NOT a quadrilateral?

Which statements are truel Select TWO correct answers.

) O O®

@ @

All rhombuses are squares.

All squares are rectangles:

All thombuses are vwﬂ:m_mm,lim.
All quadrilaterals are paralielograms.

All rectangles are squares.

What is the perimeter of the tabletop?

& 10n
16 f
32
60 fr

e




